3

7. Write a paragraph of about 200 words on any one of the

st
ol
< XI}

Paoes

following topics - 8 Loh a8
{a) lssue of Reservation

(b) Mobile Phone—A Blessing or a Curse
{¢) Cleanliness

(dy Female Foeticide.

1L-1011 8§ 37,600



{Juestions

sav the Mahatma Who is Moorthy 7

the Kedman's country and

S
i s
s

he will oot s Vﬁm?mﬂ o wnll bring ve Swarai, the WQ 445% does he £0 from hou
Mahatma. And we shall ali be happv, And Rama will (i) Why dozs he not h Sudra

come back from exile, quarter ?
(iv)  Who 1s the narrator of these lines ?

)

(v) Who is the writer of this passage

back with Sita o1

hrother Bharatha w

cstiess. Not only did the Patel

[#2]
2
[¢*}
pS-A
s
.
o
jor!
"‘V

Bade Knan wa

leok indifferent but ix nadn't even asked Bade Khan to
2. Read the passage given below and answer the questions seat himself. So. he went up the three steps and sat by

that follow : pillar, his feet hanging down the veranda and his stick

. I o o - 1Ie I's S 1 1 t )
So Meorthy goes from house to hou between his legs. They were silent tor a moment. Then

uther elder brothes  and fro . - . - .
brother to elder brother and fron He Chenna’. cried Range Gowda. turning towards the

orandfather himselt. and whe v hink ¢ - e even : . -
..lTanxJZ T T._:moa. ana 4/?.».4. &O you :ﬂ.ﬁr S - he even inner OOCHAV\D_;Q. .«(,OC T,m& petter 2o to AWO Umm :OMQ m.:&

see whether those sons of ¢

goes o the Potter’s quarter and the W
the Si :r:

went to the Pariah quarter. We said 10 ourselv

-oncubines are planting well.

11 ?‘5 ﬁ.«.; M

ae And tell Mada to hurry back before midday and fill the

b carts with sacks. Tomorrow is the tair :

one of these Gandhi-— e v

Ay

rid

nor clan nor familv. ar

(iy  Who was Bade Khan ©

(1) How did Patel treat Bade Khan ?
(iit) Where did Bade Khan sit 7
(1v)  What did Patel tell Chinna ?

(v  Who is the writer of these lines ?

live like us. Only they
early. one sheuld
Brahmin might marry

Welll welll let them say i

closed our cves.
{3-07/6) L.-1011] 3 P.T.O.
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{(111) Protest (as a verb)

Words cach

(iv) Present (as a verb)

(vi Record (as a noun)

(v} Object (as a noun)

(vil) Produce {as a verb)

(b} Mark intonation in any Jive oi the following

. sentences : 5
Woiner react . . . . ‘
(1) When did vou arrive ?
(i) How surprising !
of Kartic importent .
: (i) When can vou come ?
(iv) Best of luck.
fvii What kind of acetion 15 ansounced m the village (v)  He didn’t do it. Did he ©?
Kantrapura ? (V1) s father at home 7
Mhat vision does Moorthy have sbout Gandhi §i 9 (vity This dress is good.
£ }/ (U TR T [N A " . . : 1 N\JA
Teo Alswer any one of the following questions m abour 300
WOIds 10 Use any ren of the following idioms/phases into the
senfences of vour own 10
(Only for Blind Candidates in lieu of Q. No. 5 (a)

and (b).
To build castles in the air, To have an axe to grind, To

beat about the bush. In cold blood, By leaps and bounds,

5. 2lso marks S .
N A bockworm. To break in. Capital Punishment. To be

5 . . .

- Cock-sure. Crocodile tears. Ups and downs. Out of date.
lo break the ice. By hook or crook, In a nnutshell, A hard
nut to crack. Te smell a rat.

L-161t 4 i3-077) L-1011 5 P.T.O.
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Fill 1n the blanks with the appropriate transitional

word or phrase in any five of the following

sentences : 5

(1)  If you're hosting a dinner. trv to i
things mn advance.................. ... set the table
the day before.

(For instance/In contrast/Similariv)

oemaciyd
¢ fusldd

(iii}  Stay.........vou like. {as‘as long as/long

(tv)  You can borrow the book.............vou keep
it clean. (as long as/so long as/whether)
(v) He started....................he received the news.

(so long as/as long as/as scon as)

We had.............stepped cut of the house
when 1t began to rain. (scarcely/harddly)

i) ..ohad he gone out when it began to

rain. {Scarcely Hardly)
Transform any Sever of the fotlowing sentcaces as
directed 7

74N

(1, [ saw a wounded dog.

(Convert it into a complex

(i) In the event of his being late. he
the train.

(Change into a compound sentence)

6

(v

—

—

(3-07/8; 1.,-1011

oy \Write

{Convert 11 inw

He hked his former place.

(Convert 1t 1

\

X sentence)

nto a complex

ihis is the place where thic match will be

.
-

plaved. (Convert it into a simple sentencs)

Your fathr is the man 1o solve this problem.

(Comvert 1t inio g compley s2ntence)

Iin spite of his iin2ss he cam= 1o work.

{Changz into mpound rcentence)

1 was the fitsr o resch the spot.

2 complex senience

{he stars come ount. he sun disappears.

mbine the pair of sentences into a complex

He will come baeX today, 1t is ¢
¢Crombing and convert inte a compley sentence)

in about 3¢ words about Historical Novel, §

it briet” about the following terms -
Plot

Chardcte

7 P.T.O.



(b)

L-1012

(v)  The police is investigating the case.

(vi) The sister of Kiran is very good at cooking.
(vit) All our neighbours help each other.

(viii) Nobody have seen him.

(ix) The poem what he recited was fascinating.
(x)  Everyone of them were poor.

(x1) Who are you speaking to ?

(xi1) This is the boy that helped the poor traveller.
(xii1) He is not mad; he has little sense.

(xiv) Those who absent from the class will repent.
(xv) All which glitters is not gold.

Complete any five of the given sentences with
suitable clause : 5
(i)  He waited...................

(i) Walk carefully...................

(111) He cannot understand it...................

(1v) She cannot PasS.....cccevininnnn.

(v) He came later...................

(VI) e, vet he attended the class.
(VI1) oo, the cooler it is.
4 . 16.200

Roll No. oo,

Time : Three Hours]

Total Pages : 04

GSQ/D-17 1012

ENGLISH

[Maximum Marks : 80

Note : Attempt all questions.

1.

{367

Explain with reference to the context : 8

Verse, a breeze mid blossoms straying.
Where Hope clung feeding, like a bee-
Both were mine! Life went a—maying
With Nature, Hope and Poesy,

When I was young!

Or

I go in the rain, and, more than needs.

A rope cuts both my wrists behind;

And I think. by the feel, my forehead bleeds.
For they fling. whoever has a mind.

Stones at me for my year’s misdecds.

Answer any four questions out of the given six : 4x3
ta)  What do you know about the music of autumn ?
{bi How does the happy man control his desires ?

iv;  What does the river symbolize 1n the poem

& Vit do you think is

inteilectual tradition ?

SR I L P1.0.



(e}  How was Subha associated with nature ?
(f)  What happened once when train stopped at Deoli ?

Bring out the main theme of the poem “Gone™. 10

Or

What is the poet’s complaint in “The World is too much
With Us™ ?

Why does Robert Lynd choose to focus on pockets and

buttons ? How do these reflect on modern civilization 7 10

Or

What is meant by scientific point of view ? What are its
characteristics ? How do the enemies of science react to

this point of view ?

Make a precis of the following passage and provide a
suitable title : 15
English education and English language have done
immense goods to India, inspite of their glaring drawbacks
The notions of democracy and self-government are the
born of English education. Those who fought and died
for mother India’s freedom were nursed in the cradle of
English thought and culture. The West has made
contribution to the East. The history of Europe has fired
the hearts of our leaders. Our struggle for freedom has
been inspired by the struggles for freedom in England,

America and France. If our leaders were ignorant of

L-1012 2

English and if they had not studied this language, how
could they have been inspired by these heroic struggles
for freedom in other lands ? English. therefore, did us
great good in the past and if properly studied will do
immense good in future.

English is spoken throughout the world. For international
contact our commerce and trade, for the development of
our practical ideas, for the scientific studies, English is
indispensable “English is very rich in literature,” our own
literature has been made richer by this foreign language.
It will really be a fatal day if we altogether forget

Shakespeare, Milton, Keats and mwmé.

Write a letter to the railway authorities requesting

redirection of goods. 10

Or

Write a letter congratulating a business associate on
shifting his business premises to a better and more

spacious office.

(a) Correct any ten sentences of the given fifteen

sentences : 10
(i)  All my son-in-laws are very brilliant.

(1) The committee is divided on the issue.

(iii) She gave a four annas coin to the beggar.

(iv) I found the sheeps grazing in the field.

(3-07/4) 1.-1012 3 P.T.O.



(i) | * w= @ fEmm T oen ?

(iv) ‘9 w1 g5 wfam d wfa 7 fEw amenm =
e ® 7

(v) B FH WA T ?

(viy feat g #9 9 w9 aF W ?

(vii) Femor #1 otd SaEu |

(viil) FHFRA wfaa =t yg@ foewa @@ ? 2

(ix) T o 78 wed ¢ ?

(x) ‘®\ wfaw § fewe aviw e ommo® 2

A

Roll No. .

-------------------------

Time : Three Hours]

Total Pages : 04
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HINDI
(Comp.)

[Maximum Marks : 80

Tt gl F 3. SfEu |

1. Trafafeg 9 9 f&= 21 &1 999 e Sie o 7x2=14

(%)

(@)

(M

L-1015 4 33,200
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Iggd, Bf@, fou eg ¥ @@ e, st fomer |
T S SS WEl H-sE A, wiw fEeer |
T W e H-mg 7 M TR 9% §9d & |
vl ® W A H-vFh A 9 g8 G Sad Hi |
Y w wE 9 gl

TH HE H WA e R,

F IUFEEE AR A ?

e @ o fE

o e A& fF T €0

T AW R F TN FI A F AR

yell S31 AT W W FE K % AR

TF I3 W W FH AW FwE KA B IR

P T TR dE #wE R @ A’ |
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2.

L-1015

~

(%) g w1 uR EUIETS
S oEEN A .
TR w EEEEl gE s s
afE wOEh o amd ar
= zfaem w omE,
SoArg, gE @

foTW wEw owgEs Har v ¥ ¥ e oum oW
wifefers 9f=m ffen | 10

~

Fefafed 994 & 7 sl w1 ow 2 T TEE A

150 o=k H dfEn 4x4=16

(F) TUW =W FET T YATH HAEU

(@) ‘s W gF' TS whEE ¥ OUR F{9T vl
fatea |

() AT mEe Y owE 4R %A O SaE 2] gl
2 0 oufmm =fam = FEN R T OAfET |

(9) ‘TEEA gAE WEF RO F A 9 ¥4 B2

(&) ‘fo=x fetes w9 $fam ° afvers =fs
Fr faam =aa o wwmw o=ewo

(7)) 'vHRm’ wiam 7 Trarg wfee Y 9 R BER
TN F AW F aEEe § fommm 9w st
AAFH AT B I VA €, IBE WiEd
FARY |

[

fgadt g =1 worm wwimE #1 seom $ifg | 19

LTy

T FEa F oAl w1 Seorm #ifew |

; " g e @ v s Gafem . 5+5=10

(F) 9GS I & FAE favmaen w1 uiEg e |

(@) BEEE wfaa w1 ufEg dfew |

(M) yrER wawm T e 9w wha w5 Seoa
HIFAT |

() ‘gEEEE w1 @Y 3| g0 9ASei Fiad H
=l @ favmaed =1 afsm difsw

fr=fefea & ¥ &= &1y = s v @ 5+5=10

(F) ﬁ%ﬂmﬂﬁgmﬁmmﬂ%ﬂﬁﬁgﬂmﬁ@
FHIfST |

(@) JeaAad v & & ;AWM g M W Seo
Al

(7) HEUT F EA 7 Ieo@ FE EU AT B E

(7)) 9= fuget w1 s @ fafew food wm: sm #51
W F He Add T 8|

oot 7w wiEE § o 1x10=10
(i) ‘7=’ =mfawm % TEE@ w N9 SdEC |

FEE HR SHF A% wEaa@ H wfa q geel A
I F WFR! A FGoH &1 A HRO gqd © 2

¢

(i)

(3-06/14)-1015 3 P.T.O.
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(&)
£77)
(=)

fmfgg § § f&=l 8 o ool wifgw @ 5+5=10

ARAg, e TEE

YT @ SURNEEN

fr wifem % omfs = @ ueEtrE ufiferfe

TE R

9, frmfafign oo wos & T Afaw | v=@F 9 1 dF
AR 10

()
(@}
(m
(=)
()
(4)
(3)
(1)
€))
)]
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s g wwluR w Wi 8 7
‘W oF oy ey e oE 2
«m%vﬁﬂa?@ﬂuﬁmﬂ-ﬂﬁﬁnﬂw
‘o’ wEEl @ OgE ® AW |
e wad gl 3 ,
‘o TR WE %ﬁm& %ﬁ%ﬂnmﬂuﬂm
Jﬁﬂi%m.ﬁdﬂﬂmﬂ_wv

g BREs % TR w IW TRy |
‘FRET wEMl ® o@d w1 AW |

Te<T & 9% % o W ITEEN ® TH |
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T BeH! U R R
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o
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‘e TR A
F AR FA W
TE AT iR Cafafu-wsT T qmtm e ws
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FE G FaA UZ wEHT aE

= FA-F wEg e, v

TE ¥ oSS g
Y fafe & a0 ©
s 80 6 oz

g ) ~

T/ T vy B

T#. o ma D

ESRCH _.: oo
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FRS S . S i gy
TIRTHE Yy & N H
Vi) ~
~

FEFl & I T R woumw ow@Ew o0 10
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PANJABI (ELECTIVE)
First Paper

Time : Three Hours] _ [Maximum Marks : 80

| faR @ afe-2fent €t yrar Afos fenfnr a3 :-

® g%%&mﬂd%:_
W} T & T€ &93T 7Y afg yag. aFfeer
23t 9 uEt a9 3 &t wae & wifenr Qi
93 3 AT & HeEl

() URE IT Sl fuzT H3T Usfs Hag
feen of3 efe vt ofenr 98 Ao warz 1| Sfamrestor
gfonretr =8 goy gefa i
FoHt »md niryEt & 33 & T

(®) wdter ug 5 fédh ug aF & afe
wefenr dgr 38 ufewr ufs 3fe

(F) I3 I goE feg v'at 92 |
AU g" fumrEha feg wa &t 72 1
U'ET UTEt It HE I8 5w
T TU5 UTS 9 ¥J UBC |

(2-19/4) L-1020 A P.T.O.



. Jo fafnr fod fah feq ¢ Ales w3 Afoza 9 o9 gow
I -
(@) wfog | 39 584 < A HoEH
(b)y et qIEH A
(c) =g gdle A

J5 fed faduarst fe'd fan fe‘a @ fites 3 gos Que fe'w
ac fwa -

(a) wIu IH fesat

(b)  U: ydw friw A

(c) y: Afaog fRw #t

At w3913 7 ess v funerg’ fedn v Afoss yeias
Cll

V. Jo e afe gut fe'd* fan € &t ufosmr & @eesi € & rune
9 -
®) fam
(@) THS
(® FTg-HT
(¥) <9
VI. d5 fed wr fJet s @ meet v dardl fe's weewe 39 -
(a) R
(by ved
R
L-1020 2

(dy HHTH
(e) E2esit
() AT
() TEES
(hy FieT
(i)  SH#E
(1} ShAm |

VIl. I for or guet @ feudls way fag -

(8)
()
()
(¥)
)
®
(an
Q@)
(f)

(A7)

THTEZ
8eg
nq
fiporg
TJF
TEH
nlg
Hfgar
EGIE]
THHE

Vill. Te'3 a2 ymst @ €39 9= & oy -

(i

JeHfz-afe @ vt &= 05 2

() wfod /t 99 3oa ¥ @ Haow
(b) FE WY T A

(c) wfog Ht g7 »SHs T2 /M HaoH
Aavﬁﬁm%ﬂw%%%

(2-19/5) 1.-1020 3
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(ii)

(i)

(v)

L-1020

Afog Mt 99 o8& €€ F FT== T Y@ (AeH) fa‘d
Ifenr 2

ar SESIIAE St

() SBBITEI T T

(d) 3u<StsgE

‘wfes fenre ergt famet gue 3 7

(@) wfog /g9 e o< At Hoew

(b) wfow 7t a9 v6x T #t HowH

(c) g gdte At

(@2 wfog 7t ag »HeeR T Hoow

e Tore # T fasd ASw Ffow /t g9 g mfog
Ha9H fe's 75 7

(a) M2

(b) 116

() 118

(a 115

yaret famr afe-oer o =t @2 3 2
(a) wHET

(by =fem m

(c) TRAH AT

(d) TeIug

(i) I I g8 T FeH ae e

(vii)

(viii)

(a) 1807 &t

(b) 1808 &

(c) 1809 &:

(d) 1810t

. e fiv 7t 3 G fifepr f & s 1St 2
(@) ®IT3

(b) ¥eB 3

) v 3

(d) T8 FUS) T
‘Izu o8y o B &2 S ?
(@) & fiu THE waEl
() & yos fiw

) ff: 37 i #t

(d) FIr IH THA

(ix) E”wﬁisﬁwﬁma%mamw,mm@ﬂaqmi&
(a) go Bias fev
(b) FHHEE Bfag few
(c) vt Bfgg fe'w
(d) g UG HIY few
. (2-19/6) L-1020 5 P.T.O.
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SANSKRIT (Compulsory)

Tima : Three Hours] [Maximum Marks : 80
M Tty FwIfE

1. Tm=afafas o & 393 Of9C . 16

(%) veq@ wo= fEe B 22

(@) Fras Amfy s § wE ® 2

(M) THTss W o4 Ruf wEd ¥ 2

(%) =g U TEEeE e ol § 2

(z) T ¥ P wre € 2

(9) wEw ¥ feed @i & 2

(®) 79: % Fm ¥ faufw aF ® 2

() & FF 9 Fed T ?

2. (%) fafafen ¥ 9 5= @ vl &1 wend fafac : 10
(37) 3F: QEuUw: gEaEnen favve: |
Iy wEnsfy v F | 7 G
(7) wafa o geon wiagn: Favaw: |
T AW AR FA SRS I |
(|) ufed Tglaheniogia:
Ty YoSiauuR: |
ol A SR SedE:
TEAMEE WE QEET )
(2-13/20)1-1022 P.T.O.



(m) frafafen 7 9 5 & gfw 1 e S : 6
._.Ww.wﬂd.—. aFAgfreay |
Jgdl
foenfagi=: wg:

(%) freafafes & 9 =i @ =1 wand @fEe @ 10
(e71) fge: fayrfy foafy ageiem afay =Y |
mfafd TeEEal W owy oeEeEl g
(F) TTSTCTERMHYTEOE T,
i e geaREyd @ !
W faewal =igeRvE g

R ol o}

(W) =7 HIE TES GO,

S/)«)

eE W TEEIETSE

TUHd HEION 7 W
ISR WA

HdmmrsiaiEge:

4. Frefafes ¥ @ fRl @ W fewial fafew - 16
wefy, s, TEE, SEEEY |

5, (%) AuFOETE AQY FHARE ¥ faaeT @iy 1 8
(@) frfafaa 4 9 & = %1 g Wi ¢ 8
i) = d.md.m‘u Testa |

L1622 2

(i) <agom wiE |
i) WX = |
(iv) = dfad: o
(v) T qfty wg: |
(vi) W= afg !
(vii) fogon @ o

(2-1312H1-1022 3
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SANSRKIT (Elective) ,
Time : Three Hours] [Maximum Marks : 80

~ o~

M . /A WS F I LT |

1. ffafes w9 9o & oy 3w < . 8x2=16
(%) T T e ow frpa oww @ v R0
(@) el W oA EN A v = fem 2
(m) ‘wmmeeEn e g oad % 2 i fed o

g 7
(7)) Fferem &1 TR F1 FERE AasT st e
(F) gwag =1 ¥ o9d € 7 TmH feed 9y ® 7
(7)) ‘suteg’ w1 e @9 ¥ T GEA §AEU |

HE o TEIE (T TH)

L

S

.............. 9 Aml &\ﬂﬂuv
y SAFE FE G OB B2

(<)

2. (&) =i 9 vowl # wwEn e FifEr o 2x5=10
(i) SrEHEREeE YT 9 9g: R/ FOHERF |

JoE JEFeEm wa g wEy U
(i) ey EAE e

FEHRAT |
AEIEG T ST &g

- A \/ﬁ)ﬂ
FHR g A0 T09ER 99d
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qAagRe |
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mlsa 2

5. () feefafga © oW TR A g R SR Hied

ST FRIEE ¢ 2x2=4
( FRIOTHAE
(il iRt

(i) = TeEEr

(iv) T TR AA-aug-ArT=d |
(@) fgfafes 9§ Tl ¥ 1 Ys EA
. 4x1=4

(Vi TR Tmm ena |

(vi) el I fad |
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5SQ/D-17 1032
HISTORY
Opt. (i1)
Modern Europe

Time : Three Hours] [Maximum Marks : 80

Note : Attem:pt Five questions in all. selecting at least one
question from each Unit. Unit V is compulsory. Blind
candidates may attempt any other question in lieu of
the map question. If they want to attempt map question,
the part relating to the explanatory note will carry full
marks.
hw owEE 0 ¥ FE W A TE W W T, XA
Frne TfES UV B T W AR I URH HEHF
¥ | afx 9 gETER T € ECT A € @ S o

rq@wm.ﬂd.wﬂﬂﬁmwd%ﬁﬂu%_

3

Unit L

1. Describe the social and economic conditions of France
which were responsible for the Revolution of 1789. 16
T ¥ WS G Wi etEwenel w U IS

foas HROr 1789 3 HT FI €8 |

2-13/1) [-1032 P.T.O.



Examine the causes, events and results of the Peninsular
war. What were the causes of the French failure in this
war ? 16
WO gE & BRON, HeAS Ul gRomdl @ feeRw
e | W g3 § wEiaE F T F O FRT o 7

Critically examine the significance of the Congress of
Viénna in the history of Europe. 16
T & e W faom e ® uew % e eT®
fag=m wifwe |

Unit 11

Tars 11

Review the working of the concert of Europe ? What
were the causes of its failure ? 16
A9 B WIR N ® HE F g R | 5
99 % & SR I ?

Give a critical evaluation of the Glorious Revolution of

1688. 16

1688 %. T AlRagef Shif<1 1 ATATAHE TR FHITT |

L-1032 2

6.

10.

(2-13/2) L-1032 : 3

Explain the remark that Bismarck was an arbiter of
European politics from 1841 to 1890.

@ wU W e wifau fE 1871 3 W 1890 ¥ T®
g&w%ﬂﬂ%ﬂm@uﬁﬁ%%ﬂwﬁ _

Unit 111

g 111

What were the underlying causes of the First World
War ? 16
qun favegg & 9o BREOT B SIS RINT

Discuss the provisions, nature and effects of the Treaty of
Versailles. 16
g % GfY 1 Oel, TET q el R e H

Give an account of the Bolshevik Revolution of 1917.
What were the causes of its success. 16
1917 % =1 Siceifg® HI H G0 FIGC | TR FHe
F N FRT Y ?

Unit 1V

TS IV

On the outline map of Germany, show the various stages
in the unification of Germany. Also add an explanatory
note. 10,6
T B TR W S ¢ e @ fafes =l W
Zxizy | wF e feoeft ot fafe |

P.T.O.



Or ( 319eT )

On the ,o:Eb,,m map of Europe, show the Europe on the
eve of World War-Il. Also add an explanatory note.10,6
Y & AAfaT | f50g fovmgs & 999 [Ww %) =9k
T feooft st fafen |

Unit V
THE V
(Compulsory Question)
(rfEm 9y)
Part 1
IR
11. Write very short answer of any four questions from the
following. Each question.carries 2 marks : 4x2=8
frfafed 2 @ =l 97 voif & afy Sfaw s fafew
TIF I H 2 HE T o
(a) Name three famous kings of Burbon dvnasty.
@ OIW H AR IS GuRl F TW FaR0 |
(b) Who was the Pope of Rome during the time of
Napoleon.
Tfee & wHE H YW F U wE o1 ?
(c) What was the purpose of the domestic policy of
Metternich ?
TR ® E MG w OIIEI F oo ?
1-1032 4

(d) When and where James I died ?
Sy feda 1 9y ®§ AR wEl g 7

() Which leader of Italy took part in Peace
Settlement 7
it ged ® geell 1 wME a1 e gem ?

(f)  When was the government of Bolshevik Party

established in Russia ?
Y d§ INfge TA H TR HI R Fq
T2
Part 1Y
arT 1T

Choose the correct answer, each question carries 1 mark :
4x1=4
TE I|W F T FITG, FEF G H 1 FF E -
(a) Who were known as Matayor in French society ?
(i) Nobles
(i1)  Artisans
(i1i) Peasants

(iv) Tenants

wEE gt § HarR fRd e S oen ?

(i) =meE W
(i) FTW H
(iii) fFam =

(iv) H9R @l

(2-13/3) 1L-1032 5 P.T.O.



(b) Napoleon attacked Russia in
Gy 1801
@) 1803
Gii) 1807

iv) 1812 A e
| AZ rthern Germany Union was establishe
(©) 0
G 1870
(i) 1867
(i) 1864
iv) 1866 v
@ 1870
(i) 1867
(i) 1864
iv) 1866 o v
Aéwas did Japan surrender 1n Second Wor
(d)
(1) 6th August, 1944
(i) 9th August, 1945
(iii) 15th mmﬁanadooﬁ 1045
(iv) 14th August, 1945

6
L-1032

fxfta favegs § 9w ¥ w9 eney-mwdo fear o
(iy 6 3vmd, 1944 % =
(i) 9 T, 1945 .
(i) 15 fEa=R, 1943 F1
(iv) 14 TR, 1945 % &

F1

<,

Part II1
LA IR B 6 §

Match column ‘A’ to column ‘B’. 1 mark for each
point : 4x1=4
Column ‘A’ Column ‘B’

(i)  Murder of Louis XVI (a) 1912

(i) Age of Conferences (b)y 1854-36
(111)) War of Crimean (¢) 1815-25

(iv) First Balkan War (d) 21st Jaauary, 1793

Flem ‘& W] wew ‘g’ ¥ sfE e # T | g
F 1 OWFE T

.

wiem ‘e’ wew ‘wq
(i) B weEd F T (a) 1912
(i) HEEH H O (b) 1834-36

(i) =fFm =+ 7Ig

() 1815-25
(v) Fo9 woFT I

(d) 21 S9a9, 1793

(2-13/9) L-1032

2,700
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HISTOR
Paper [T (11)
Modern Eurcpe (1789-1945 A.D))

Time : Three Houwrs] IMaximum Marks : 90

Note : Attemapt Five questions in ail, s _nnzzm at least one

from each Section. All questions carry equal
marks. Blind candidates may uﬂm.ﬁ? any other guestion
in lieu of the map question. If they wish to attempt
map auestion, the explanatory noe ﬁ,:_ carry {ull marks.
T S OEE T OTH UH YR YT Q, el Uiy
YU AT IRE ORTU | WS WAl 3T OEH T | A
Tyl EETE 99 W T EaE T T TFd

afe = mwlay wwe A e aEd ¥ oar 39S ﬁmd
i CA L I | B OO Ol

M
N
Fat

18
wfdreR w5

i
f
P
i
oy
o
ot
]
o
W

P.T.O.



2. Discuss the early expeditions of Napoleon. 18

Juiferaq & siitdes faT #1 =TE Fe |

3. Discuss the decisions of Vienna Congress of 1815, 18

1815 ¢ &1 fagn s ® fAorat =7 men wifew

Section 11
Tug 1

4. Describe the causes of The Glorious Revolution of 1688.

18
1688 7. @ TEQel FE F FWON H AUE FHiSC |

5. Describe the various stages in the unification of Italy. 18

4 wEEI A fafae ereRens w1 oavm e

6. Describe the diplomatic alliances of Bismarck. 18
. At F1 ol i |
Section I1I
wug 111
7. Describe the causes of the First World War. 18

vy favagg & FRON &1 F0H &I |

8. Describe the results of Russian Revolution of 1917, 18

17 AT e wifa ® oRers @ Ao st

L-1033 2

9. Describe the results of Second World War. 18
o favags & OROTH w1 oAU AT |

Section IV
Qg 1V

10. On the outline map of Europe show the political conditions
of Europe on the eve of French Revolution. Also add an

explanatory note. 12,6
[T & T@ifFT mEf T FE F E F e @Y R
TS Ty AviEg | ereeds fewmh «f fafeg

Or (31ar)

On the outline map of Europe show the Europe on the
eve of World War 1. Also add an explanatory note. 12,6
[ F e wHeE W ovem favegs & wEd
T9ied | sqres foooft «ff fafe |

Section V
Q@ ug V

11. Short Answer Type Questions
Y ITT G
(a)  Answer any four questions from the following : 4%2
frofafea § @ =l 9R WA % WG
(1)  When was the National Assembly formed ?

.

TEE WA KT T FE EE

(2-13/6) L-1033 3 P.T.O.



(i) Who was the of Traes on the eve of if)  Meternick was the Chancellor of :
French Revolution of 1739 7 (1)  Germany

1789 % I WIH HI @i ®m FAT WE H (2)  Japan
N

e W o« ? (3) Austria
(4) England
fefra fRE W H EEER o1 7

en

i (1) AT

(itly Whe was the name oi Napoleon's wite
Tfeas B Te FOFN AW oo ?

(iv)  Who is called the “Sword of Lalv’ ?

‘wrel w1 vedwm Y owmEl W O§ 7
: - 2) ST
(v) Who was the leader of Boishevik Party 7 ~

- ~ - A - wq 3 ,N}u,
m%:m%%ﬁ.mﬂﬂmﬂ%ﬁq.\ A

N e e s 4) gl
(vi) Who adopted the Policy of Blood and Iron ? *

W WR EE w08 TEnE oTTERE 7 (iii) Who was called the brain behind ltaly
e g
(b) Choose the correct answer : 5 Unification *
TE I F I : (1) Cavour
(i)  Social Contract was written by : (2) Mazzini
{1} Rousseau {3y Garribaldi
(2) Voltaire (4) Victor Emmanuel
(3)  Montesquieu ool THEw F U fEue dfEes wE
(4y  Adam Smith B2

3
,
(S
al,
~3

f...,,i !, - ﬁﬂﬂdjm: 4&:.. mﬂ.m o

(2) = | (3) TR
‘ Tiers £ .
3) [EEEREEEE

—
e
o
g
A
k¢
o
M

P.T.O.

th

L-1033 4 2-13/7) L-1033



(c)

L-1033

(iv)  Glorious Revolution occurred in England in :

(v)

(1) 1789 A.D.
(2) 1688 A.D.

(3) 1649 A.D.

(4) 1680 A.D.

.m..@dw | IMIR HIfd mw :
(1) 1789 AD. ¥

(2) 1688 AD. ®

(3) 1649 AD. ¥

(4) 1680 A.D. #

Triple Entente was done in -
(1) 1882 AD.
(2) 1907 AD.
(3) 1902 A.D.
(4) 1904 A.D.
(1) 1882 AD. ¥
(2) 1907 AD. H
(3) 1902 AD. ¥
(4) 1904 AD. ®

Match the following :

(1)
(i)
(1i1)
(iv)
V)

‘A B
Cavour (1) 1939 A.D.
Bismarck (i1) Italy

First World War (iii) Germany

Peace Settlement (iv) 1870-71 A.D.
Franco-Prussian War (v) 1919 A.D.

A

3fgd frem wifsg .
‘A)

() =

(i) foa=mmeR

(i) wem fovags

Gv) wifa wmeR

v) WHR-IRE I

(2-13/8) 1.-1033 7

‘B’
(i) 1939 A.D.
(i) 3ol

(iil) =T

(iv) 1870-71 A.D.
(v) 1919 A.D.

1,400



:.:: »)\TD wrote the book aJUJBOWJ 9

{a) Machiavelii

5\

-~

Pareto

-
)

ic) Lask:

(dy Green

“Prince” THEF TwE e foadh 2
(31) T

(=) =

~

(|) &=l

~

(2) uHA

L-1635 6

Roll No. .cooovuririvnnisenerennnns Total Pages : 06
GSQ/D-17 1035
POLITICAL SCIENCE
Opt. 1

("omparative Politics

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five @commosm. All questions carry equal

marks.
fr=l urer ool & T dfSe | wdt oy # ow
T £

Discuss the meaning, nature and scope of Comparative

Politics. : 16
qeTcA® TSI 1 37, wepta iR & & 9ol wifsT |

.Q.Eom:v\ discuss the. Behavioural Approach. 16

HIERATS! RV ] AAIHS AT R |

Critically discuss the input-output approach given by
David-Easton. 16
2foe = 3N Ru T sw-fria sfewm =1 sraemes
e HI |

(2-12/13)L-1035 P.T.O.



Discuss the various ?ozﬁ.dm of Constitutionalism and
point out the suggestions to solve the problems of
Constitutionalism.

HEUFAR & 7§ w1 THEEE § g 39 [ wH F R
A9 = gHAE 30 7 faEaE st

Discuss critically the advantages and disadvantages of the
Bi-cameral legsilation. 16
fsosia fawraed & o9 qen v # sTeleRTEES
AT FITTC |

Explain the role of opposition party in Modern Demacracy
System. 16
YR o wonelt § U <@ w1 s w1 g
FT |

What do you mean by Pressure Group ? Discuss the role
of pressure groups in modern democratic countries. 16
TEE TgE W A9 T 9Eed € 2 yfE A dui
H T WIE # e # v s |

Describe the functions of Judiciary. 16

SRRl % HT W qu e |

L-1635 2

Objective Type Questions : 2x8=16

THAS T :

(i)  Who wrote the book “A System Analysis of Political

Life” ?
(a) Almond and Powell
(b) Laski

(c) T.H. Green
(d) Laswell
“A System Analysis of Political Life” T&& fFam
faslt ?
() e I UEdA
() et
(®) dw= d=
() =
(i) Which country is founder country of “Rule of
Law” ?
(a) India
(b) England
(c) US.A.
(d) U.S.S.R.
‘EEA FUEH w e feg dw A g ?
(H) 9ra
(3) FRUE
(|) smfE
(X)) &9 .

(2-12/14) L-1035 3 P.T.O.



(iti) Which country adopted hereditary executive ?
(a) England Wi H we T weht RRad vER 9 et &0

(b) Pakistan () T
(c) India () foweim
(d) America () gz
frg 2w H g FEGRE € 2 (%) T et
A v .
Mm w e . (vi) M:_ormMMMMM. have BmxmBE.: pressure groups ?
(9) s (b) India
(3) oW () USA

(iv) Permanent executive 1S : (d)  Pakistan

(a) Civil Services S - g
s o R : R N %&uﬂ I Ao
(b) Public (51) #eiie TAE HHE T AW E 2

(c) Legislature (7) s
(d) Judiciary (=) ..
i wETeE E - ﬁ
(a1) ordfres & (Vi) What |
(€) W\ at 1s name of USA Legislature ?
(m) fauraed MMV Parliament
DI
(x) = A w 05
. ¢
(v) How many types of Party System are there in various ongress
ies 2 (d)  Senate

countries 7 :

TR & faumaves
(a) One Party (5 4 F T AW B ?
(b) Two Party - qEe
(¢) Multy Party ) s
) All of the above - (®)

() e

L-1035 4
(2-12/15)1-1035 5
P.T.O.



Unit IV

e IV

Planning has partially succeeded in India. Do you agree
with this statement ? Give reasons in support of your
answer. 8.8
9§ TN @ A gl W g8 ¢ | o S T
He ¥ TERG § 7 o9 S % §ed H a% dN

Do you think the present rates of saving and capital
formation are adequate in India ? How can these be
improved ? 8,8
T e foaR ¥ aemE awdl sl S ae ge Fmir

= qEE ¥ 7 TR W U™ W AFa € 7

1.-1037 6 7,000

RO NO. covvvrcenrrcnsrimnerianess

Time :

Note

Total Pages : 06

1

clopment and

r:r to India
Three Hours] IMaximum Marks : 80

0. No. 1 is compuis

< Attemnt £

pe =ight questions of 2 marks

{rom any thre e Units

¥
o
-y

Lo aticrapted from any

1. {aj correct answer
(i) Balanced growth means
(1) Balance in ,;m iculture ‘Sector
(2
(3}
e
(2-12/7) 1.-1637 wwO



Aqfed foemm 9 wige g

(Y =fw &3 o

i1 7
~ - ~ g w. -
(2y  FEI s W HEEd

(i)

3\ )\:JJ.L

per vear is called ¢ (1)  Accordin

(1) Capital Formation

o~
ta
&
[
e.
=
‘,
’”\
)
y_.l
&
[
Q
=]

(o9

(3) Stock of Capital

(4) None of the above

g gd ISt w WiF § T ae gig @
() O fm
(2) W H=I
G) T =
(4) swgEm A

L
4
3
A4
A

AE TR ()
(ili) As per Census 2017, sex ratio in India per
. L ﬁmro ks/Stimulates)
thousand males 1s :
(9

Q) 9

(i)  FEmployment leads to ioss of output which is

S

~3

Qeorrrrrnennn CONSEQUE

O
Lol
[

(3) 940 (i) Deiicit
(45 953

L-1037 : 2 (2-12/8) L-1037



2.

(g wfaa =

% m ..................... -

Unit I
ECIER

1 concept of “Quality of life” and
Differentiate between the concept of “Quality of life” ¢

‘Standard of living’. Explain physical quality of life index

i 4,12
in detail.

Srga w1 el T e TR STEMROne H SRR e
U | SER % difas UE gEwiE E faEn F
TR |

Critically explain Lewis model of unlimited supply of

labour for developing countries.. 12,4

fagreia 29 ® wed ¥ gm w1 o qfd ® qEH
Oige H ATA=ATE: B HIET |

L-1037 4

4.

(2-12/9) L-1037 3

Unit [1
ECIEm|

Define Liberalization, Explain the economic reforms
adopted in India under liberalization. 4,12
- S W RN | YR seferamen
Hﬂijﬁ%ﬁ.dgﬁqﬁmﬁ

Explain the concept of inter-generational equity in the
concept of sustainahle development. How can it be
achieved ? 4,12

Unit 111
ECaE |

What changes in it have taken place in the last two
ecades and what do ey reflect 2 4,12

REZ]

Expiain the concept of rural cmployment and urban
emplovimer

o
o

. Explain  the causes of increasing

1 -

unemplovment in India 8,8

H FETA AT



(vil) What is the function of Red Blood Cells ?
el T wiEEsl W oF wE g 2

2

(viii) What is the function of platelets (blood

composition) ?
weeRy (W SE9ew) w1 @ & v 7
(ix) What do you mean by League Tournament ?
@ e w1 e fafay |
(x) What do you mean by Organisation ?

. -

e v 9§ 7 aedd B 7

L-1042 4

2

2

4,400

RO NO. coeecririciiennninee Total Pages : 04

;53SQ/D-17 1042
HEALTH AND PHYSICAL EDUCATION

Time : Three Hours] [Maximum Marks : 60

Note : Attempt Frve questions in all. selecting at least one

i

question from each Unit. Q. No. 9 (Unit V) is

o

comipulsory. All questions carry equal marks.

il

TEE TEE U WA 97 3¢, Ewe U WA &

o $

Tav AfT | us wWem 9 (FE V) ated € 1 |l

Y F 3 THA B |
Uniti
G

1. Explain in detail about the characteristics of Adolescence.

10
feviaeen =7 Fsumel w1 fawr g gvili wifeg |

2. Explain in detail about the factors affecting Growth and

Development. 10
g ol fawm =i gaiem &@ o FRE F fFER @
U FIAC |

Q-11/13) L-1042 P.T.O.



Unit 11
T 1

Prepare the fixture of 21 teams on knock out basis. 10
Ha omSe ¥ MR W 21 W w freesm SRR )

Write in detail about principles of sports organisation and
administration. 10

e 7T e T & fagr T R | 9vE s

Unit 113
TFE 1

What do vou mean by Good Posture ? Explain in detail
about the importance of Good Posture. 10
sfad oA #1 e ffEy qun TEE TeW W fawR 9

U HIfTT |

Explain in detail about causes and remedies of poor
posture, 10
fog o (A Werd fawR) § e T s w
fowm 9 v s

Unit IV

ECIES Y

Explain in detail about Muscular System. 10
araTea e w famr © el R |

L-1042 2

8. FExplain it detail about blocd compesition. 10
@ S w1 BER 9 9eiE Hife |
tnitV
THTE V
(Compulsory)
( arfward)
9. (i) Write down definition of Development. 2
(i) Write down any rhree stages of Growth and
development. 2
Ifg ar fowm 7 #E @ sEe fafen |
(iii) Write down environmental factors affecting Growth
and Development. 2
gfg ot fowm @ wwfm FE AR FEEE
(iv) What do you mean by Heredity ? 2
FoEe ¥ = sfaE ® 7
(v) Write down the name of any three postural
deformities. 2
are gl frE @A faen ® A fafen |
(vi) Write down any three causes of postural deformity.
2
s weef fasnl w W d@w s fafew
(2-11/14) L-1042 3 P.T.O.



(iv)  What is Intramural ? 1

e fRe e ® 2

(v)  Write any nwo advantages of Extramural. |
T % & oY 9T |

(vi) What is Bye ? 1

(vii) What is Knock Knee ? 1

oAl ® TR o R O?
(viii) What do you mean by gross anatomy of muscles ?
1

Faferl Y THm ogen 9wd W o#+ R ?
(ix) What is RBC and its count in per cubic m. liter ?
1
o T RO = ' e W wfas i o
Y o wem fRA e R
(x) What are functions of Blood ? 1

L-1043 4 800

Roll No. ciiiviiiieeniinns

GSQ/D-17 1043
HEALTH & PHYSICAL EDUCATION

Total Pages : 04

Time : Three Hours] [Maximum Marks : 50

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 9 (Unit V) is
compulsory. All questions carry equal marks.

T THE W UH YT YA T, KA U T #
IW AT | v ' 9 (FFE V) fEe € 1 |sd
YAl % gEHE '

Unit |

3FE 1

1. Define Growth and Development and explain stages of
Growth and Development. 10
s @ fawm =1 wfum fafee qun 9fg & fawm =
SEENH F AR BT |

2. Explain about factors influencing growth and development.

10

gis @ fowm w1 yafad &6 T wRE ® fTwg o
fowm @ fafew | ,

Q-11/1N1.-1043 P.T.O.



:J!

Unit I

ECOER

Discuss in detail the principles of sprots organization and
adrainistration.
e qea @ wenEd 7 fagr 8 fawa ¥ faww s
&:.&.m !
What do you mean by Tournament ? Explain its types.
10
e | 79 7 weme € 2 e fafe= wEW w1 ool
|
Unit III
ECARAR L
What do you mean by Posture ? Write in detail the
importance of good posture ? 10
G W Y g T oRE W "eE ERIELE
Uxplain the symptoms and causes and remedy for postural
deformities 1.e. Toidosis and Kyphosis. 16
Faz W w1 w wHE W W) omew wE fywfadl w
1643 2z

Unit IV

TEE IV

7. Explain the types of muscles in human body. 19
g YRR A uE W oaed Trentri % wer @ 9vn
|
8. What do you mean by Composition of Human Blood ?
Explain its constituents. 16
S TR O H ST RN OWEHA ¥ 0 IS WS F
v W |
Unit V
FEE V
(Compalscry?
( atfrart)
9. (1) How do grands affect ihe growth and development 2
i
ol gfg @ fEwm ow w% g wmw € 0
ity  Write any mwe differences between growth and
development. H
s @ form # d= e osIE
(ili) Meaning of Sports Organizatior: and Adnunistraticn. 1
WA S q W w1 @ wimm o
(2-1172Y-1043 3 HARE
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9. (i) How is computer useful in accounting ?
FIR wEiFA W fFE @ suEnh € 2

(1) What do you mean by one sided errors and two

sided errors ? 8+8=16
s oIfeal aun feuefa srgfeal @ smue M
sfgE & 2

10. Write short aotes on the following : 4x4=16

(i) Compound Entries
(ii) Trade Discount and Cash Discount
(iii) Suspense Account

(iv) Deferred Revenue Expenditure.

frafafes w gfyw femfirl fafee

() fafym wfafeat
(i) =URE AN T FHS wIAA
(iii) ST @

(iv) ©afidm s =9 |

L-1059 8 100

ROIINO. coooeereerencersennveense

GSQ/D-17 1059
OFFICE MANAGEMENT
Financial Accounting

Total Pages : 08

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions. All questions carry equal
marks.

faef uier WA & SW dfsT | 9 e % ew
T9H T

1. Define Accounting. Explain its advantages and
limitations. 16
wEieT & uRaw A/ | sHe @ qen diwenl wy
SR FHST |

2. What do you mean by accounting principles ? Explain
their importance in accounting. 16
et fagr o ST 1 ARy § 2 deied ¥ e
HETH i SEA HIWY |

3. What is Ledger ? Illustrate the posting and balancing
procedure of ledger accounts. 16
TAEE T ? SRERl % @l ¥ @fEe g ww
fraem =1 gfear +t SRR Ofgd =ren Hifv |

(3-05/12)-1059 P.T.O.



4.

Is trial balance a conclusive proof of accuracy of

accounts ? Discuss the errors not disclosed by trial

* balance. 16

4 g9 @R w ST FOTHER G 2 2 O §W
e 3 R At egfedl w oavE Fiwe |

Why is preparation of Bank Reconciliation Statement
necessary ? Explain the main causes of difference in Cash
Book Balance (bank column) and Pass Book Balance. 16
S T a0 it € 2 The T % S
9 (¥ Fom) 7 U9 gF ® 99 W F eI FH
1 qUE FIC |

Give Journal Entries to rectify the following

eITorsS - 8x2=16

(i) ¥ 5,000 paid for furniture purchased has been debited
to purchase account.

(ii) ¥ 8,000 paid to A for salary were debited to his
personal account.

(iii) ¥ 1,000 received from X has been credited to Y’s

account.

L-1059 2

(iv) No entry has been made for purchase return of
% 200.

(v) A return of goods worth ¥ 500 by a customer were
entered in Purchase Return Book.

(vi) Goods of T 500 taken by the proprietor have not
been entered in the books.

(vii) The Purchase Book was undercast by ¥ 1,000.

(viii) Sales to X ¥ 5,000 were posted to Y’s account.

frefafen sgfedl ® GUR 1 e gfed ST

@) R & 9 @ fou f&g g 5,000 ¥4 ©M
¥ 2fee = g M |

i) A = ¥ 8,000 # I g T, oo
Hfra @ § e W fn o

Gi) ¥ 1,000 X° ¥ W= TY, Y % @d § e
w fag |

(iv) 2900 F F9 aOE F TR § FE yfare T
H W |

) ﬁﬁaﬂﬁﬂﬂﬁﬂmoo%ﬂa%ﬁ#ﬁ
w1 gt ¥@ ¥ few fen oo

(vi) 7 500 H W @ A AR w@m & foe
fomn, ofed TwE ¥ wR dfEfe A oA R

(3-05/13)L-1059 3 P.T.O.



(vii) %I FE H Wg T 1,000 ¥ FHA AT T |
(viii) ‘X’ &l & T T 5000 H feE # @O Y
G e B - o

A drew a two month bill of exchange on B for ¥ 10,000

as on lst January, 2016. On the due date the bill was

dishonoured by B. Pass journal entries in the books of

both the parties in the following cases :

(i)  When bill is kept by ‘A’ till maturity.

(i) When it is discounted with bank at 10% per annum.

(ii) When it is endorsed to C.

(iv) When it is sent to bank for collection. 16

1 e, 2016 % A 7 B W ¥ 10,000 ® 2 TN

w fom faer | oo = 3@ fafy " B gw faw =

s fean | Frefafea emetl & T el &7 Sl

¥ e gfafear sifve .

() 9 A 3 fofy 9% foa # oW 9w @@

(i) @ faat = dF FV 10% aF | ¥ g0
S

(i) 5@ faa &1 C # 95 § 9= W G o

(iv) @ faa 9% @ @ @ fou 99 s #

L-1059 4

8.

®) Q
Capital — 4,00,000
Drawings 25,000 —
Fixed Assets 6,00,000 —
Purchases and Sales 7,00,000 14,00,000
Return Inward 15,000 —_—
Return Outward — 14,000
Carriage 28,000 —
Wages 70,000 —-
Salaries 35,000 —
Insurance 3,500 —
Debtors and Creditors 2,40,000 1,00,000
Bill Receivable 9,000 —
Bills Payable — 8,000
Printing and Stationery 2,500 —
Commission — 500
(3-05/14)L-1039 5 P.T.O.

From the following trial balance and adjustments of “X".
prepare Trading and Profit and Loss Account for the year
ending 31st March, 2016 and the Balance Sheet as on
that date :

Trial Balance

Name of Account Dr. Balance Cr. Balance



Opening Stock
Cash in Hand

Bank Loan

Interest .o: Bank Loan

Rent

Adjustments :

80,000 —_
1,55,000 —
— 18,000

2,500 —

— 25,000
19,65,500 19,65,500

(i) Closing Stock was ¥ 95,000.

(ii) Rent Received in advance was ¥ 1,500.

(iii) Depreciate fixed assets by 10% per annum.

(iv) Interest an bank loan was outstanding ¥ 500.

(v) Allow 10% per annum interest on capital. 16
‘X' & frfafen qe@de qen gaEsEeT 8 31 9™, 2016
T G B 9 99 & A Td ATH-BIT @ qel
39 fafo =t feafs faamo dar =i |

g™ & AN

Toft
FE
o eyt
w9 9 fawa
staftes  arget

L-1059

deqe
Dr. Balance Cr. Balance
®) ®)
— 4,00,000
25,000 —
6,00,000 —
7,00,000 14,00,000
15,000 —
6

YRR 9 oER

&
.
-

— 14,000
28,000 —
70,000 —
35,000 —

3,500 —
2,40,000 1,00,000
9,007 —
— 8,000

2,500 —

— 500

80,000 —

1,55,000 —
— 18,000
2,500 —
— 25,000
19,65,500

19,65,500

() f<m whmr T 95000 e |
() e & T 1,500 FIfim W= g 9

(i) T Twfed W 10% f® E |
(iv) &% U W T 500 F AW EH A |

v) T ® 10% TfF == T T |

(3-05/15)L-1059

7

P.T.O.



(b)

(b)

L-1071

Section IV

Let (X, d,) and (Y, d,) be metric space and fbea
function of X into Y. Then fis continuous at @ € X
iff for every sequence (a,) in X converging to a,
the sequence (f (a,)) in Y converges f(a). 2%
Prove that every contraction mapping in a metric

space is continuous. 2%

A metric space (X, d ) is compact iff every collection
of closed subsets of X with finite intersection
propery has a non-empty intersection. 2%
.> metric space (X, d) is connected iff the only
non-empty subset of X which are both open and
closed in X is X itself. 2%

4 5,600

Roll No. ......uceuuuenunn.... Total Pages : 04
GSQ/D-17 1071
MATHEMATICS
BM-351

Real Analysis

Time : Three Hours] [Maximum Marks : 27

Note : Attempt Five questions in all, selecting at least one
question from each Section. Q. No. 1 is compulsory.

(Compulsory Questions)

1. (a) Give an example of two subsets A and B of reals
R such that d(A, B) = 0 but A n B = o. 14

(b)  Show that every subset of a discrete metric space is

closed. 1
|
(¢) Examine the convergence of .‘.Nlll&x. 1
o X cosx
(d) Define semi-metric space. 1%

(¢) State (only) fundamental theorem of integral

calculus. , 1v2

(3-02/12)L-1071 P.T.O.



23

(b)

Section 1

Let f be defined on | Q, .QL by :
L 4]
_feosx if  x is rational
Jx)= |sinx if x is irrational

Show that f is bounded but not integrable on

E 2%
4|

0
]

A bounded function having a finite number of points
of discontinuity on [a, b] is integrable on [a, b].

2%
Using definition evaiuate the integral : 2%
b
Q?.s&xu (m=-10<a< b)
a
Prove the inequality : 2%
/\w < \ \.-. .ﬁ.5|x adx < u.\m
8 /4 o 6
section I
Examine the convergence of the integral : 2%
&1 .
J M\,‘ .N.&x
—aNa —-x

Discuss the convergence of the Beta function. 2%

2

S. (a) Examine the convergence of : 2Y
o 8]
._.mE x’dx
0
(b) Evaluate : 2%
“rtan ! ax
..‘ dx if a>0
»;+.x )
Section I
6. (@ For 1 < p < o, if Nw is the set of all
o o)
real sequences x = (x,) with me:_m <o and
n=1
_A\ w ,B/JM\ p
3 ) ~
&?.CEJ Mx: =Vl for x, v € Nu.
e /
Show that Qw. d) is metric space. pA%Z:
(b) Prove that in a metric space (X, ¢), every open
sphere is an open set. 2%
7. (a) Prove that a subset F of a metric space (X, d) is
closed iff its complement is open. 2%
(b) Prove that every convergent sequence in a metric
space is a Cauchy sequence. Is the converse true ?
Justify vour answer. 2%

(3-02/13)1.-1071 3 P.T.O.
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Time : Three Hours]

Note :

(b)
(c)
(d)
(e)
®

Total Pages : 03

GSQ/D-17 1072

MATHEMATICS
BM-352
Groups and Rings

[Maximum Marks : 26

Attempt Five questions in all. selecting one question

from each Unit. Q. No. 1 is compulsory.

(Compulsory Question)

Define cyclic group.

Define inner automorphism with an example.
Define Cayley theorem.

Define Quotient Ring.

Define unit ideal and zero ideal.

[ S = S G S S vy

Define Euclidean Ring.

Unit I

The order of every clement of a finite group is
finite and cannot exceed the order of the group.

Prove it. 2V,

(3-01'8; 1.-1072 P.T.O.



(b)

951

(a)

(b

(b)

(b)

1.-1072

The number of generators of a finite cyclic group
of order » 1s §(7), where ¢(n) is the Euler’s function.
Prove 1t. 2%

If H is a subgroup of G then G is equal to the
union of all right cosets of H in G. 2%
Prove that every quotient group of a cyclic group is

cyclic. 2%
Unit 11

If His a subgroup of a group G and f is an
automorphism of G such that f(H) = { f(h) : h € H},
then prove that /(™ ; is a subgroup of G. 2%
If G is a finite abelian group of order n and m is
a positive integer such that (m, n) = 1, then show
that /: G — G defined by f(x) = x™ is an

automorphism. 2%

Let G = {e. a. a*>, @®} be a cyclic group of order 4.
Show that H = {e. a?} is a characteristics subgroup
of G 2%
Decompose the permutation :

ﬂ 1 23 45 6 7 89

98 7123 465

into product of transpositions. 2%

6. (a)
(b)
7. (a)
(b)
8. (a)
(b)
9. (a)
(b)

Unit 111

A division ring has no zero divisors. Prove it. 2%
An arbitrary intersection of ideals of a ring is an

ideal of the ring. Prove it. 2%

Prove that the set of integers is a subring of the
ring of rationals but is not an ideal of the ring of
rationals. | 2%
Every quotient ring is a homomorphic image of the

ring. Prove it. 2%

Unit IV

Prove that every Euclidean ring possesses unity
element. 2%
Show that every non-zero prime ideal of a principal

ideal domain is maximal. 2%

If R is a unique factorization domain (UFD), then
show that every prime clement in R generates a
prime ideal of R. 2%
Show that f{(x) = x3 + 3 + xy is irreducible over C,

the field of complex numbers. 2%

(3-01/9) 1-:072 3 5,600
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GSQ/D-17 1073
MATHEMATICS
Numerical Analysis
BM-333
Time : Three Hours]} [Maximum Marks : 2C

Note : Attempt Five questions in all, selecting one

question from each Section. All questions ca.1 - equal

marks.
(Compulsory Question)
( rfarE 9y )
1. (a) State Gauss Backward interpolation formula. 1

(b) Evaluate the following interval of differencing being
unity 2A + 1)? (x + 2)% 1
(¢) An unbiased coin is tossed 8 times. Find by using
binomial distribution the probability of getting at
least 6 heads. i

(d) State Bessel’s formula. 1

(3-01/5) L-1073 P.T.O.



2. (a)

(b)

L-1073

Section I

From the following table. find the number of

students who obtained marks less than 45 : 2
Marks No. of Students
30-40 31
40-50 42
50-60 .3l
60-70 35
70-80 31

Find the lowest degree polynomial which statisfies

the following data : 2

x |ol1i2]3]4]5s
F(xy10]3[8]15(24]35

State and prove Newton’s divided difference
interpolation formula for unequal intervals. 2
Use Lagrange’s formula to find f(6) from the

following data : 2

x (205717107 12
F(x) 18180 | 448 [1210 | 2028

(a)

(b)

(a)

(b)

Section 11
Use Sterling formula to find y,q given : 2
Yoo = 49225, y,5 = 48316
Y3g = 47236, y35 = 45926
Yo = 44306.
Find the value of sin 32°30’ from the table : 2
x® | sinx®
30° 1 .5000
31° | .5150
32°|.5299
33° | .5446
34° | 5592

It is given that 2% of screws manufactured by a
compahy are defective. Using Poisson distribution,
find the probability for just one defective screw in
a packet of 100 screws. 2
A bag contains 3 white any 4 red balls. Three balls
are drawn one by one with replacement. Find the

probability distribution of the number of red balls.
2

(3-01/6) 1.-1073 3 P.T.O.




/

Section III (b)  Using Jacobi method. find all the eigen values and

eigen vectors of the marrix 2
6. (a) TFind the value of F(x) at x = 0.04 from the following : { 5 4" ,
table : 2 A=|2 5 -
4 -2 1
x | fx) -
0.0110.1023 Section IV
0.02 | 0.1047 1 I
0.03 | 0.1071 8. @ Evdute [—dv using Simpson's 1rd e
X 3 ‘
0.04 { 0.1096 | 0 7
5! 77 i -1
0.05,0.1122: =22« = —. Hence compute an approximate value
0.06 0.1148 4
I= 5
(b) Find the largest eigen value and the corresponding 2
eigen vector of the matrix : 2 (b) Enzlize ._.z,flr« dx by Gaussian 2 point
- 0
1 -3 2 RS
T 2
A= 4 4 -1 _—
6 3 s == 057735, u, = ~up, Wy = W, = 1]

- 9. (@) A:riv Euler’s method to sol @ =x+ (0) =
ve 7 Y. y(0)=0,

7. (a) Transform the matrix : .
c2o0sing the step length = 0:2. Find y(1.4). 2

_17 o
1 2 -1 | (b)  Use Picard’s method to find the third approximation
= 2 i-di - ; . . )
A=|2 1 to tri-diagonal form by House of the following differential equation - ,
-1 2 1
dy
: ——=y~-L »0) =2
holder’s method. 2 dx
| (301 7 L1073 5

L-1073 5,600



7. What is Constitutionalism ? Explain its problems and
reforms. - 16
HlAuM=E 1 ¢ 7 THE wHENel R 9HeE W OwE

o~

AT |

Unit IV

ECIERAY

8. What role do civil services play in a modern welfafe
state 7 16

STYMF FAEHN T F ARE Fad o FE w E 2

9. Discuss the ways and means to ensure independence of
Judiciary. 16
AR T WA gHvea @ % I F1 gvi
FiT |

L-1080 4 15,000

ROl No. oo,

GSQ/D-17 1080
POLITICAL SCIENCE
Opt (1)
Comparative Politics

Total Pages : 64

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 (Short Answer type) is
compulsory. Each question carries 16 marks.

TAF THE O UE I TW B, HE U WA ®
IW N | w1 Hew 1 (e s 3) afed

A

T YEE T 16 F w % |

(Compulsory O:amm.osv
( 3tfard wyw )
1. (a) Which are the traditional methods of Comparative
Politics ? 2
TAHE TSGR e fafrat e ¥ 0
(b)  Give any nwo limitations of Behaviourism. 2

FERNER w1 HE & g fafem |

(3-19/7) L-1080 P.T.O.



(¢) Give nwo points of criticism of Political 3.
Development approach of studving Comparative
Politics. 2
qoATeTE eI & eriaE Tt A Eallel
(ﬁ_&,mm_m\ %_.WH |
(d) What are /wo bases or determinant factors of
Political Culture ? 2
s HEEfa # FE e 9HR W RuRe a9 4.
ERIELS

(¢) What do you mean by enacted Constitution ? 2

S

faffm wfaem 9 s wn wfwyE © 7
()  Write nvo merits of Flexible Constitution. 2
o wEgE & g O daRt | 5

(g) What are nvo advantages of Bi-cameral
legislature ? 2

Sz faurafas % & e SaR’ |

(h) What do you mean by Separation of Powers ? 2

vfFd & guEE w1 g @ g 2
Unit |
e |
2. Discuss the utility of the study of Comparative

Politics. 16
OIS TSHITG & T59aR 1 ITAfE 1 feeeE wife

Discuss the meaning and scope of Comparative
Method. 16
JATHF Ugfa Y URT SR THE &7 F A i |

Unit II

e 11

Critically discuss the structural-functional approach of

Comparative Politics. 16

qETeHs  ASEI % SRR -HEHE G
ITATEATHF g HITC |

Define Political Culture and discuss its main

components. 16

TofaE Hesta €1 9Raw 9 qeg a@ # 9 S |

Unit HI

TS 111

What "do you mean by Constitution ? Describe the

fundamental features of good constitution. 16

Tfgam | AU F ad 7 s |faud w1 Hifas
faurearet &1 guE S |

L-1080 2 (3-19/8) L-1080 3 P.T.O.
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GSQ/D-1 7 1082
MUSIC VOCAL THEORY

Part- { "Vocal;

fime - Three Hours! [Maximum Marks : 40

Note © Attemp: fioo questions iu ali. selecting at least one
question froas eacr Umit, ALl questions carry equal
marks. .
T FHE U UE WA 990 20, He Ui ¥ @

y

EATER AL U N R ol e B S

Unit i
ECIER]

1. Describe the historica’ studv and detailed description of

g gy w1 fomrgds aom

2. Write the Notation of one Vilambir Khayal in any one

Ty
2112
i

&




&8

1, P I S
g contrioulior

Write in detail the n
Indian ciassical mu

v S ot £ -
T E HE EA /

Py ey

HEREE jahay

What 1s Netation Syster 7 What are the merits and
demerits of Notation system ?
¥ Y AW AE

<




ROIINO. i, Total Pages : 03

GSQ/D-17 1083
MUSIC (Instrumental)
Paper I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Section. All questions carry equal
marks.

TF TUS W FH H FY U W T gU, Fl ufer
T ® S| AT | wd T # o e §
Section A
Qug ‘3’

1. - Write a notation in Maseetkhani Gat (Slow Gat) with two
Todas and description of the Raga from your syllabus.
I TEEFEA § ¥ R f wew w1 # ndae T (@
) | el wfed wd o W fafeu |

2. Write the detailed description of any fwo of the following
Ragas :
(1) Raga Todi
(i1)  Puriya Dhanashri
(i) Basant
(iv) Miyan Malhar.

(2-25/14)L.-1083 P.T.O.



Trefafed 5 9 fF=0 & i @ gursty
mmﬁ_,ﬂ S @m :

(i) A

(i) g e
(i) 94

(v) for ==rR |

3. Write a Razakhani Gat (Drut Gat) of Rag Puriya Dhanashri
or Raga Basant with two Todas. 8
T gy A T wE, e oo o e
T (39 ) T arel afem !

Section B
gvg ‘9’

4. What do you know about notation system ? Also write its
origin and developmant. 8
Al agfa & A H o9 90 9=a € 7 st sty we
fawm & I ¥ o fafag |

5. Write the description in Fkeun, Dugun. Chaugun
Layakaries of Dhamar Tala and Jhaptal. 4+4=8
YR d SR Huare e el w7 uiead, TFHE, T,
IA eEEE ¥ fafen |

1-1083 2

10.

Write in detail about Indian Orchestra. Also write its
origin and development. 8
IETE SRR F I O fawm w fawg o
fafam |

Seetion C
gug ‘q’

What is the contribution of Nikhil Benerjee in Sitar
playing 7 Write in detail. 8
fafae a7si 1 fooR am=a & fawm § #= 9eE w o
foremgde fafe |

Write in detail about the role of Music in International
Cultural Exchange. 8
FIE Wpfds TEH-1F § Tig #1 @ gt g 2
forednyes fafem |

Write about the life-sketch of Ustad Mushtak Ali Khan
and his contribution in Music field. 8
SR gy Hell @ w1 SgA-yiEd wdqd BU, 39
g & &% ¥ ange fafe |

Write one Gat in Jhaptal or Rupaktal with one Toda. 8
U AT FYHAA H hE UF Td UF g gied fafaw |

(2-25/15) L.-1083 3 1,000



(b)
7. (a)
(b)
8. (a)
(b)
6. (a)
(b)
L-1097

In a metric space, every open sphere is an open set.

4

Prove that if every Cauchy sequence in a metric
space has a convergent subsequence. then the space
is complete. 4
In a metric space (X, d). a subset of X is closed if

and only it its complement 15 opei. 4

Section 1V

Let f be a function of (X. d) into (Y. d*). If for
every sequence (g,) in X converging to 4. the

sequence (f(a,)) in Y converges to f{a). prove that

/ is continuous at ¢ € X. +

Prove that every compact meuric space is compleie

and totally bounded. 4

Prove that a metric space is connected 1f and only
if it is not the union of two non-empty disjoint
open sets. 4
Prove that continuous image of a compact metri

c
space 1s compact. 4

4 19,300

RO N0 e Total Pages : 04

GSQ/D-17 1097
MATHEMATICS
BM-351
Real Analysis

Time : Thiee Hours) [Maximum Marks : 40

Note : Attempt Five questivns in all. selecting at least one

guesticn from each Section. Q. No. 1 is compulsory.

All questions carry equal marks.

{Compulsory Question)

b

.
o

£
N’

Give an cxample to show that if '+ g € Rla, b]
then it is not necessary that fand g & Rla, b]. 2
(by  Shew that every subsct of & discrete metric space is

open. 2
(c) Define and give an example of a nowhere dense

set. 2
(d) Prove that every functica from an infinite discrete

metric space to any metric space is continuous. 2

(3-09/7) L-1097 P.T.O.



2. (a)

(b)

(b)

L-1097

Section |

hounded

The necessary and sutficier: condition

Let f be defined on

_jcosx xed)
J= siny . yeR-0O

\

Show that 7 is not

Verify first mean vaiue thsorem

2

3 2
._. 4x’ -3x° y
0
Prove that a i
integrable on {a. EPT.

-
&~

A

(¥ 3]

i
{
A

(26914 1..1097 !

Section 11

wtegral

* H s - M -
“.N,,M o

el

Discuss the convergence of

x ;
rCOSEY —~COSOX 7
e X

-~

“o
ran oy .

“. A S ARV

MBSEE

d) 15 a meiric space.

Y

2N

PT.O.



L-1098

Prove that if F is a field. then F[x] may not be a

field. 4
Show that the polynomial 8x3 — 6x — 1 is irreducible
over Q. 4

4 19,300

Roll No. ..ucccvreireninane. Total Pages : (1i
GSQ/D-17 1094
MATHEMATICS
BM-352

Groups and Rings
Time : Three Hours] IMaximum Marks © 46

Note : Attempt Five questions in all. selecting at leasi ouc
question from each Unit. Q. No. 1 is compulsory, All

questions carrv equal marks.

(Compulsory Question)

1. (a) If afinite group of order ‘" contains aa clement of
order i, then show that group must be cyclic, 2

(b)  With the help of an example show that the inner
automoipiism  corresponding  to  two  distinet

elements of a group may be same. . 2

(c) Show by an example that unitv of a ring and its
subring is not same. 1

d Prove that a prime element in a principal ides!
I !

domuain is irrcducible. 2
€) Define Primitive Polynomial. i
(3-08/9) ¥ 1098 oy,



(b)

(b)

(b)

1~-1958

Unit I

Prove that if (G, *) is an abelian group, then for all

a, b € G and for all integers n : 4
(a-b)y = a™b".

Prove that the number of generators of a finite

cyclic group of order # is ¢(n). where ¢(n) is Euler’s

¢ function. 4

If M and N are normal subgroups of G, prove that
MN is also a normal subgroup of G. 4
Prove that any fwo right (left) cosets of a subgroup

are either disjoint or identical. 4

Unit I1

The necessary and sufficient cordition for a
homomorphism f to be one-one is that Kernel
J = {e}. where ¢ is identity of domain. 4
Let z(G) be centre of a group G. If G/z is cyclic.

then prove that G is abelian. 4

5. (a) Let G be an infinite cyclic group. Show that order
of Aut(G) is 2. 4

(b) Define Cyclic permutation. Multiply the cycles
(123) and (5 6 4 1) represented in a permutation

of degree 6 on {I. 2, 3. 4. 5. 6}. 4

Unit IT1

6. (a) Prove that a division ring (Skew field) has no zero
divisors. 4

(b)  Prove that the order of each non-zcro element of an
integral domain (regarding the elements as the

members of additive group) is same. 4

7. (a) Prove that the ring of Integers. is a principal ideal
ring. 4

(b)  Prove that every homomorphic image of a ring R is
isomorphic to some quotient ring. 4

Unit IV

8. (a) Let R be an Euclidean ring and a, b be two non-
zero elements of R. Then show that if b is not a

unit in R then d(ab) > d(a). 4

(b)  Prove that an element in a principal ideal domain is
prime element iff it is irreducible. 4
(3-08/710)L-1098 3 P.T.O.




Section IV

d
8. Solve &Iw\ = x+y using Taylor’s series method. Start from
x=1,y=0and carry 7, x = 1.2 with 4 = 0.1. Compare
the numerical solution obtained with the exact solution.
64
9. (a) Use Picard’s method to find the third approximation
of the following differential equation : 3%
dy y
_= N - ( =
dx 7 =2
1
(b) Evaluate ._.||N&x by using Trapezoidal Rule. 3
ol+x
L-1099 4 19,300
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MATHEMATICS
BM-353

Numerical Analysis

Time : Three Hours| [Maximum Marks : 30

Note : Attempt Five questions in all, selecting at least one
question from each Section. Q. No. 1 is compulsory.
All questions carry equal marks.
(Compulsory Question)
1. (a) Evaluate A(x? + sinx).
(b) Find Binomial distribution whose mean is 3 and
variance 2.
: . 3 :
(¢) Define Simpson’s w% Rule of Integration.
(d) Write Lagrange’s interpolation formula. 4
Section 1
2. (a) Evaluate (2A + 1)? (x + 2) interval of differencing

being unity. 3

(3-08/7) L-1099 P.T.O.



(b)

(b)

e

(a)

(b)

L-1099

State prove Newton-Gregory formula for Backward

interpolation. 3%

Find the polynomial of the lowesi degree which
assumes the values 3, 12, 15, —21 when x has the
values 3. 2, 1. -1 respectively. 3
By means of Lagrange’s formula prove that : 3%;

Uy = uy — o.w@m — U3+ o.w?& ~ Ug)
Section II

Prove that mean and variance of Poisson distribution
are same. 3
If X follows a binomial distribution with mean 4

and variance 2. find P(jx - 4 < 2). 3

State and prove Gauss Backward interpolation

formula. , - 3%

If x be the normal variate with mean 50 and S.D=8§;

find the probability that : 3
x <60

6. (a)

(b)

Section 111

Find the first derivative of the function V=1

tabulated below at the point x = 0. 3

X 301511 27 34
J(x) | =13 1231899 17315 | 35606

Using power method. find the largest eigen
value and the corresponding eigen vector of the

matrix : R}

o>

i
o N .
w o
v Lo

7. Using Jacobi’s method, find all the eigen value and the

eigen vector’s of the matrix : 6"

]
W

(S
38

- Gl -

ol
-

(3-08/8) 1.-1099 3 P.T.O.
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PHYSICS
Paper : IX

Quantum and Laser Physics

Time : Three Hours] [Maximurm Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. All

questions carry equal marks.

(Compulsory Question)

1. {a) What do you mean by normalisation of a wave
function ?
(by Deline reflection coefficient and transmission
coefticient.
¢y What do you mean by population inversion and
why it is necessary for light amplification ?
(d) What are the advantages of a semiconductor laser

over other lasers ? 2x4=8

(3-08/14)L-1104 P.T.O.



Unit 1

2. (a) What do you understand by wave-particle dualism ?
Describe  Davison and Germer experiment to
illustrate the wave nature of ms ter. 5
(bj  Derive time independent Schriidinger equation. 3
3. (av  Derive expression for probability current density.3
(b)  What is the difference between classical mechanics
and quantum mechanics ? 2
{¢)  Show that the DeBroglie hypothesis of matter waves
is in agreement with Bohr’s postulate of quantization
of anpular momentum. 3
Unit 11

4. e down Schridinger equation for a free particle in
onc-dimensional box. Solve it to get eigen functions and
w that the eigenvalues are discrete. 8
S Derive Schrisdinger equation for linear harmonic oscillator
and determine the normalised wave functions and the
energy levels of the oscillator. Discuss the significance of
ZET0 point energy. : 8

L-11g4 2

Unit 111
Derive Fuchbauer Ladenberg formula. 8

(a)  Show that population inversion cannot be achieved
using only two energy levels. 3
(b) Discuss the propertics of directionality and

monochromaticity in case of laser light. 5

Unit IV

Discuss with suitable diagram principle, construction and
working of a Ruby laser. Why do we get output in the

form of pulses ? Why each pulse consist of spikes ? 8

(a) Why even a 2 mW He-Ne laser is much meore
brighter than a 100 W ordinary bulb ? 2
(b)  Compare the laser lights from a He-Ne and a Ruby

laser, 2

{¢) Discuss the use of lasers in medicine. 4

(3-08/15)L-1104 3 17,800
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PHY SICS
Paper : X

Nuclear Physics

Time : Three Hours] [Maximum Marks : 40
Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is moBﬁEmoQ. All questions

carry equal marks. Non-programmable calculator is

allowed.

1. (a) Calculate the value of electron magentic moment.

2
(b) What is neutrino theory of B-decay ? 2
(c) Why electron cannot be accelerated in cyclotron ?
2
(d) Give some conservation Eim. of nuclear reactions.
2

Unit I

2. (a) Describe the structure of nucleus. Explain, why

electrons cannot be the constituent of nucleus ? 6

(3-08/5) L-1106 P.T.O.
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4. Discuss i detail, the theory of ¢-disintegration with the

8

lelp of quantum me

the nhoton and

6

(b)  Compute the muanimum eneryy of a Compton recoil

cffect. Discuss the

electron resulting {rom absorption in Al of 2.4 MeV

y-rays. : 2

Unrit I

6. Explain the principle of lincar accelerator. Discuss the
expression for the euergy of (e particle and length of

cylinders in terms of the corstants of the apparatus. 8

L-1106 i/

7. (a) Explain the principle. construction and working of
a proportional counter. Give its application how it

can be used for neutron detection. 6

(b)y A GM counter wire collects 10 electrons per
discharge. When the counting rate is 500 counts per

minute, what will be the average current in the

circuit ? 2

Unit IV

8. Define Q-value of a reaction. Derive an expression for

Q-value in case of two body system. - 8

9. (a) Explain the terms nuclear fission and fusion with
the help of suitable examples. 5

(b) A reactor is developing energy at the rate of

32 x 106 watts. How many atoms of ,,U?3¢ undergo

fission per second ? Assume that on an average

energy of 200 MeV is released per fission. 3

(3-08/6) 1.-1106 3 17,860



9. (a)

(b)

L-1108

Determine the ground terms for Low Spin and High
Spin for d® octahedral configuration. 3
Why do tetrahedral complex of Mn(Il) are more
intensely coloured than octahedral complexes of
Mn(Ib). , 3

4 11,500

| 2] | A Total Pages : 04
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CHEMISTRY
Paper : XV
CH-301

Inorganic Chemistry

Time : Three Hours] [Maximum Marks : 32

Note : Attempt Five questions in all, selecting at least two

questions from each Section. Q. No. 1 is compulsery.

1. (a) Give the salient features of crystal ficld theory. 2
(b) Calculate p, for V3% and Ni* ions. 2

(¢) Write a brief note on selection rules for d-d
transitions. 2

(d) What do you mean by trans effect ? Name twa

powerful trans directing ligands. 2
Section A
2. (a) Calculate CFSE for the following : . 2

(i) d* (High Spin Octahedral)
(ii). d8 tetrahedral.

(3-08/1) 1.-1108 A P.T.O.



(c)

(b)

(b)

(c)

1-1108

Which complex has higher value of A and
why ? 3
: JONY 13- N 3+

(i)  [Co(CN) . [Co(NH;)el

(1) [Fe(H,0)]-. wwwmﬂEwO,vmuwa,

(i) [Co(NHy),". [Rh(NHy) >

5
>

Define Pairing Energy. 1

Explain  bonding and magnetic moments of
[Fe(H,0)]*" and [Fe(CN) 3~ complexes in terms
of crystal field theory. 3
Name the factors affecting the stability of a complex.

Elaborate any one of them. 3

Show stereochemistry of substitution in the following

reactions 3
(i) pref ML, RO
(i) prey =M%, ML

Explain the terms Dissociative and Intercharge
dissociative. 2

How are Af and Ao related ? 1

5. (a) How is overall stability constant B, related to
stepwise stability constants K, K,........ Ky ? 4
(b) Discuss the thermodynamic stability of a complex.
2

Section B
6. (a) Define magnetic susceptibility. How does it vary
with temperature ? 3
(b) Explain the phenomenon Ferromagnetism and
Antiferromagnetism. 3
7. (a) Describe the temperature independent
paramagnetism. 3
(b) Explain Faraday’s method for measuring magnetic
susceptibility. 3
8. (a) What are Orgel diagrams ? Draw and discuss orgel
diagram for [T,(H,0),]** and [N{(H,0)]** complex
ion. ‘ 3
(b) What are microstates ? Calculate no. of microstates
for p? and d? configurations. 3
(3-08/2) L-1108 3 - PTO.
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CHEMISTRY
Paper XV (CH-301)

Inorganic Chemistry

Time : Three Hours] [Maximum Marks : 27

Note : Attempt Five questions in all. selecting at least orne

question {rom each Section.

Scetion A

1. (a) How does CFT account for the fact that [CoF¢]? is
paramagnetic but [Co(NH;)]?" is diamagnetic. 2%
(b)  Which complex has higher value of A and why 72

(i) [Co(CN)]* [Co(NH;)J**

(i)  [Co(H,0) . [Rh(H,0)¢]**

(¢) What is meant by spectrochemical series ? 1

2. (a) Give the limitations of valence bond theory. P
(b)  Why Ti*" ion is purple in aqueous solution while
Zn®" ion is colourless ? 2
(¢) Calculate CFSE for the mo:oéwsm :
(i)  d’-weak field octahedral

(2-17/7) L-1109 P.T.O.



(a)

(b)

(b)

(c)

(b)
(@)

(b)

L-1149

(ii) d° tetrahedral
(iii) d3-strong field octahedral. 1%

Among the [Ni(en);]** and [Ni(NH;),]?* complexes
which is more stable and explain why ? 2%
Define the following substitution reactions observed
in rate determining steps : 3
(i)  Associative

(ii) Interchange associative.

Define trans effect and ligands with transdirecting

effect. Explain with a suitable example. 2%

What do you mean by Labile complexes and Inert

complexes ? 2

Name rwo powerful trans directing ligands. 1
Section B

Define magnetic susceptibility. How does it vary
with temperature ? 2%

Explain Ferromagnetism and Antiferromagnetism. 3

~Calculate the magnetic moments for ions Cr3*, V4*

and Fe3* from spin only formula. 1%
Explain the Gouy's experiment to determine the
magnetic behaviour of a substance. Give advantages
of Gouy's method. | 4

7. (a) Calculate number of microstates for oxygen. 1%
(b)  Write the term symbols for 3p? configuration. 2

(¢) Explain vibronic coupling. 2

8. (a) Discuss the orgel diagram for d! and d? system.3
(b) State and explain selection rules for d-d transition.

2%

(2-17/8) 1.-1109 3 3,100



7. (a)

(b)

(c)

What do you understand by normal modes of
vibrations of a polvatomic molecules ? Show

diagremmatically the different normal modes of

vibrations of CO, and H,O0. 2
Give advantages of Raman Spectra on LR Spectra,
1

Write a note on Relative intensities of Rotational
spectral lines. : 2
Give  experimental  details  of  microwave

spectroscopy. 1

Section C

8. Write short notes on the following :

()
(b)
(¢)

9. (a)

(b)

(c)

L-1110

Degrees of {reedom of motion. 2
Doppler effect and litetime broadening. 2
Intensities of spectral lines. 2

Dertve an expression for vibrational rotational
spectra. 2
How ¥. (> and R branches of lines are produced in

b
Vib

-3

ot spectra. 2
Explain Raman effect on the basis of Polarizability

of molecules. 2

4 11,500
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CHEMISTRY
Paper : XVI
CH-302

Physical Chem. Theory

Time : Three Hours] [Maximum Marks : 32

Note : Attempt Five questions in all. Q. No. 1 is compuisory.
Select two questions from each Section A and

Section B.

1. (a) What are well behaved functions ?

(b)  What happens if the length of one-dimensional box
is made infinite ?

(¢) What is a linear operator ?

(d) Detfine group moments.

(e)  Which of the following has odd electron *
(i)  NO,
(i)  N,O
(iii) N,O,
(iv) N,Os.

(G-0716}L-1116 , P.T.O.



2. (&)
)

2 5

L-1ui6

53

hat is principle of equipartition of energy

Which oi the tollowing molecules show rotational

elengths 2 and A + 8A 2 1x8
Section A

the spectral distribution of black body
2

Explain Stefan’s Boltzmann Law and  Wien’s

T

Displacement Laws, 2

The  fnreshold  wavelength  for  photoelectric

-

Frassion 1o Tungsten is 2300 A, Calculate

sty an expression for energy for a particle in

onal box and obtain the expression for
eipen funciion and eigenvalue of energy. 3
Write notes on the following : 3
Existence of zero point-energy

Quantization of energy

hiotoelectric effect.

4. () What s optical actvity 2 What is the cause of
optical activity 7 Briefly explain with suitable
2
(b A solutien of « certain optically active substance in
¢ i 00 ml rotated
s oo pelarimeter which had a
¢ of sodium was used as
aiate the specific rotation. 2
(¢y  What is the effect of teninerature on polarization ?
2
5. (a) between specific susceptibility
v i a naterial of density
2
(b) sthod Tor magnetic susceptibility.
2
(c) of  Dipole Moment  in
Cts and traus Isomers (i) in
seniage tonic character. 2
Section B
6. (a) Why doos one get band spectra of molecules ? 2
(b) What is the effect of isotopic substitution on
rotational spectra ? 2
(¢)  Cut of .. Oy, Ny, HCL CO. NO which will give
pure spectra and why 2 2
(3-077L-1110 3 P.T.C.
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CHEMISTRY

Paper : XVI-302

Physical Chemistry

Time : Three Hours] [Maximum Marks : 26

Note : Attempt Five questions in all, selecting at least rwo

questions from each Section. All questions carry equal

marks.
Section A
1. (a) Write postulates of quantum mechanics. 3
(b) Evaluate the following : , 3
(i) [xPe]
fd N(d
i o[ L
o \ldx ) ldx
2. (a) Decrive Planck’s radiation law. 3
(b) Write a note on Photoelectric effect. 2

3. (a) Explain the results of particle in one-dimentional
box. 2%

(3-07/14)-1111 P.T.O.



cooweent s 078 DL Caleulate the percentage ionic

of the H-Rr bond. 2%
4. 14 iwations of dipole moment: 3
(v oo o aoic on Gouy's method for measurement of
crenn naeopiibality. 2
Section B

5 (a) the viave number for a radiation having
. 1%
(L) tiwe vibrational degree of freedom in the
; 4
cr Wi on the following are microwave active
RUCHSBER 2%

P RN

B /\/\N

(i) H,0

(iv) NN.
e B + effect in rotational spectra. 2%

L-1111 2

7. (a) FExplain vibration-rotation spectra for diatomic
moiecules. 3

(b) Calculate the force constant for the bond in H-Cl
from the fact that fundamental vibration frequency

is 8.6 x 1013 S°1, 2

8. (a) Why are Stokes’ and Antistokes® lines observed
along with Rayleigh line ? 2%

(b)  Explain the Raman effect in terms of Polarizability.

2%

(3-07/15)L-1111 3 3,100



(b)

N

.
o~

oo

L-1112

Give the limitation
glucose.
How organozine compounds react with H,O znd

organolithitum compounds react with CH.=CH,

4,2
Prepare the foliowing from CH,MgBx
(1)  Propancl-]
(11} Acetic acid
?.Q Acetone.
important

4 13 “maw

s of open chain structure of

Rall

‘otal Pages : 04

1112

Yo sasrennssesecensrssesrciot

Paper XV (Ci1-303)

Organic Chemistiy

[Maximum Marks : 32

i QU No. s compulsory.

quesiions from each Section.
Compulsere Question

1. {(a)  Indicate "True’ o "False tor the following staternents
regarding PMR 1x3
(1)  Deshielding shifts th

1" depends on applied magnetic field

o)

e absorption down-tield.

-

is independent of radiofrequency.

Give names of constituent units of Lactose and

—
T

type of iinkage between ihem. i
(¢} Name a chi is not optically active.
1

sl

(d)  Draw structure of Ervihro-2,3-dihydroxybutanoic

acid. 1

(2-3719y 11312 P.T.O.



(e)

(0

2. (a)

(b)

(b)

L-1112

Prepare TMS (Tetramethy! silane) from suitable GR. 4. (a)
1

Why organolithium compounds are more reactive . (b)
than GR. ? 1

Section [ (©
Why is TMS used as reference compound in PMR @
spectroscopy 7 3
How will you distinguish between the following (®)
pairs of compounds on the basis of PMR ©)
spectroscopy : : 3
(i)  CHy-CH,~CH,-Br and CH,-CH - CH,

b

(i) Cli;-CH,-C=C-T! and CH;-C=C-CHj
(i) CH;~CH,~COOCH; and OEwIOOOOmwlomw
Explain the following 6. (a)
(iy  Spin active nuclei
(ii) Coupling constant (b)
(iii) Peak area of signal.
A compound having molecular formula C,H;Br;
exhibits two PMR signals 7. @
1) 4 doublet, &:4.2 (2H)
(i) triplet, 3:5.8 (1H)
What is the structure of the compound ? 23 (®)

2 (2-17/10) L-1112 3

Give an account of rules of splitting the proton
signal.

What do you mean by Proton exchange process ?
Iliustrate with example.

Define induced magnetic field. 32,1

How many PMR signals would cis- and trans-1.2-
Dibromocyclo propane show ?

Define chemical shift. How is it measured ?
Give structural formulac of compounds  with
molecular formulae :

(i) C,H¢Br

(i) C,H4ClL

showing one PMR signai. 22,2

Section 11

Give mechanism of Glucosazone formation and
explain Glucose and Fructose give same 0sazone.
Draw Haworth Projection formula of Sucrose.

Explain, why it is non-reducing dissacharide ? 2x3

How would you convert the following :
(i) D-Glucose into D-Arabinose
(ii) D-Fructose into D-Glucose.

Write a short note on Glycosides. 2%3

P.T.O.
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Time : Three Hou {Maximum Marks : 27

Note . Attemipt Five

uzstions in all. selecting at least fwo
questions from each Section. All questions carry equal

marks.
Section 1

1. (a) Define ~Chemical Shift’. What are its units ? 1%
) want 7 What are its units ?
1Y%

of different types of proton signals

(c)

owing molecules : 2%

(i) CH;CHCICH,Ci
(i) CH;CH,COCH,

(iv)  CH,CH,CHO
v)  CICH,~CH-

(2-17/5) L-1113 P.T.O.



o . will you differentiate the following pair of
-ecules on the basis of PMR spectroscopy : 3
1-Bromopropane and 2-Bromopropane
CH,CHO and CH;CH,0H
Cis-2-Butene and trans-2-Butene.
~iain the PMR spectrum of Benzaldehyde, giving
number of signals, splitting pattern, position

aumber of each type of protons. 2%

(e . organic compound has the molecular formula
14,4 1t shows the following PMR signals : 3
Singlet 1or SH at 67.26 ppm
Singlet for 9H at 30.89 ppn.
+¢ the structure and name of the compound.
“iain the PMR spectrum of this compound.
at is magnetic equivalence of protons ? How
the axial and equatorial hydrogens of

‘shexane can be distinguished ? 2%

organic compound shows PMR signal at 138
downfield with respect to TMS at 60 MHz.
" -at will be the position of absorption of the
wal at 100 MHz. Calculate its chemical shift in
zlta) and z(tau) scale. 3

Jlain the PMR spectrum of Acetophenone. 2%

-~
r

(b)

(b)
(c)

(b)

[

Section B

What are the reducing and non-reducing sugars ?

Give examples. 1%
Write a note on Ruff's degradation. 2
Convert D-Fructose into D-Glucose. 1

Write modern mechanism of Osazone formation of
D-Fructose. 2
How will you determine the ring size of cyclic
structure of Glucose ? 2V

Write Haworth structure of o-D-Fructofuranose. 1

Give the main features and Haworth structure of
Sucrose. 2V,
Prepare Glycoside from B-D-Glucose. 12

Write open chain structures of Ribose and

2-Deoxyribose. 1

Write a note on Regormatsky reaction. 2
5

Complete the following reactions : 3

(i) CH;MgBr+ CH, - Cll, —> A HO™ . g

/o\
(i) C,HMgBr + CH;CHO —> A HO |

(ili) CHsCOOH + CHiLi —> A _HO

(Excess)

(2-17/6) L-1113 3 3,100
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BOTANY
Pepor |
Plant P ology
Time : Three Hours] [Maximum Marks 1 40
Note : Attempt Five questicis -~ all, selecting two questions
from each Unit. Q. >+ * s compulsory. All questions

carry equal marks.
Compulsery Question

1. (a) Define Imbibitior.
(b) Define Root pressui-
(¢c) Name the mineral . . :nt involved in opening and
closing of stomata. |

(d) Give empirical forimuize of Chl-a.

(¢) What is the first st«5i product of C4 cycle.
(f)  Define Respiratory <} .>tient.
(g) Apogeotropic roots.

(h)  Define photoperiod = 1x8=8

(2-17/1) L-1116 P.T.O.



Unit I
2. Discuss active and passive water absorption theories in
plant. 8
3. Write notes on the following :
(a)  Antitranspirants.
(b) Transpiration is necessary evil. 4+4
4. Discuss the effect of deficiency of Nitrogen and Potassium
in the physiology of plant. 8
5. Write notes on the following :
(a) O.ﬁooEoB@-w:E@ Theory
(b) Ringing or Girdling experiment. 4+4
Unit II
6. Write notes on the following :
(a) Photo-oxidation of water
(b)  Crassulacean Acid Metabolism (CAM). 444
7. Write notes on the following :
(a) Photorespiration
(v) Pentose Phosphate Pathway. 44
L-1116 2

What is Seed Dormancy and discuss the various methods

for its removal ? 8

What are tropic movements ? Explain the role of auxin

In geotropism. 8

(2-17/2) L-1116 3 3,660
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BOTANY
Paper : 11

Ecology

Time : Three Hours] [Maximum M

Note : Attempt Five questions 1 all. Q. Nn

Y

Select rwo questions from cach {nit,

equal marks. Draw relevant diagien.s

necessary.

(Compulsory Question)

1. Explain the following :
(a) Lodging
(b) Humus
(¢) Climax Community
(d) Smog
(e)  Sciophytes
(f) Parasitism
(g) Soil conservation

(h)  Greenhouse gases.

(3-07/1NL-1117

[

“whergver

R Y

g 7

P.T.O.

(.JI

0

Unit 1

an environmental factor. )

Desceribe the morphological and anstomical adaptations

developed by hydrophyic piants, 8

Write notes on the momci.:m“

(a) cotypes and ecads 4

(b1 EHiltecet of sol Qm,w,mmﬁm on piants 4

Describe the physico-cltemical properties of soil. 8
Unit 11

Discuss the qualitative characteristics of a community. 8

Write notes on any fwe of the following : 4+4

(a)  Energy flow in uan ecosystem

of water pollution.

Describe the various phivtogeographical regions of India.
8
Define plant succession. Explain the ecological succession

on a bare rock (Lithosphere). 8

L-1117 2 3,600
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ZOOLOGY-I
Environmental Biclogy

v

Time : Three Hours] [Maximum Marks : 40

Note . Attempt Five questions in all. selecting rwo questions
each from Section A and Section B. Q. No. 1 is
compulsory. Support your answer with neat and labelied
diagram(s) wherever necessary.

1. Explain the following in brief :
(a) Ecological niche
(b)  Edaphic factors
(¢)  Ecological pyramids
(d) Biomes
()  Reservoir pool
(f)  Biotic potential
(g) Biosphere reserves
(h)  Catadromous migraticn
(1)  Competition exclusion principle
() Bio-magnification. 16x1.5=15

Section A

2. Discuss the effects of temperature as a climatic factor on
animals. 6%

(2-16/12)L-1118 P.T.G.

3. What is food chain ? Enlist the characteristics of a food
chain. Describe two types of food chains with suitable
exampies. 6%

4. What are biogeochemical cycles ? Explain the nitrogen
cycle. Why is it called a perfect cycle ? 6%

5. (a) Man made ecosystems. 3%
(b) Ecotone and edge effect. 3

Section B
6. (a) Define Population. Enlist characteristics of
population. 3
(b) Describe two types of growth curves. 3

7. What are threatened species ? Describe various categories
of threatened species with suitable examples. 6%

8. (a) Greenhouse effect and Global warming. 3
(b) Noise pollution. 3

9. Define Interactions. Describe any fwo negative inter-
specific interactions with at least fwo suitable example of
each. 6%

1-1i18 2 3,700
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ZOOLOGY
Paper : 11

1119

Evolution and Developmental Biology

Time : Three Hours]

[Maximum Marks : 40

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Select rwo questions from each Sections A and B. Draw

well labelled diagrams wherever necessary.

1. (a) What are Coacervates ?
(by Define Species.
(c) What are connecting links ?
(d) Define divergent evolution.
(e) What is Archaeopterix ?
(f)  Define parthenogenesis.
(g) What is vitellogenesis ?
(h)  What is Karyogamy ?
(i)  What is involution ?

1) Define regeneration.

(3-07/9) 1.-1119

1/2x10=15

P.T.O.



Section A
2. (a) Discuss the embryological evidences of Organic
evolution. 4
(b)  List the conditions found on the primitive earth.
2V
3. (a) Explain the factors of Lamarckism. 4
(b) Discuss the significance of Lamarckism. 2%
4. Explain the mechanisms of reproductive isolation. 6%
5. (a)  Write a brief note on Horses in Miocene. 4
(b) Differentiate between micro-evolution and macro
evolution. 2%
Section B
6. Give an account on Parthenogenesis. 6%
7. (a) Discuss the presumptive areas on blastula of Frog.
4
(b)  Write the characteristics of cleavage. 2%
L-1119 2

8.

9.

Explain the formation of extra-embryonic membranes in

chick. Give their functions. 6%

Discuss the mechanism of regeneration. 6%

(3-07/10)L.-1119 3 3,700



8. (a)
(b)

9. (@
(b)
©

L-1122

Unit IV

Discuss the following instructions of 8085 : 4
INC address. CMP reg, XRA reg and STA address.
Discuss the functions of program counter, stack
pointer and status flags in the architecture of 8085

microprocessor. 4

Discuss DAA instructions of 8085. Explain how
flags are affected with this instruction. 2
Explain the role of address buffer and address data
buffer in the architecture of 8085 microprocessor.

4
Discuss LDAX rp and STAX rp instructions of

8085 microprocessor. 2

4 1,350

RO NO. ceoeericnencannesseraras Total Pages : 04

GSG/D-17 1122
ELECTRONICS
Paper 1
Microprocessor Architecture and Programming-1

Time : Three Hours] [Maximumi Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

Compalsery (nestion

1. (a) Define feich cyele i
(b) What do you mean by memory reference

tnstruction 7 i
(c) What do you resn by program staius word V2

(d

of the following si

(e) If camry ilag 18 zero, then show that RAR instruction

|

(2-16/8) [.-1122 21O,



Unit ] {c) Discuss direct addressing ui

ter addresing

. o . - modes of SAP-II computer with one example in
2. {(ay What are Microinstructions for ¢ P ) P

. oa . : ach mode. 2
(i) LDA instruction cach moce

(i1) ADD mstruction. 4
o e . Unit ITI
{by  Explain the function of contreller/sequencer in SAP-

2ty E e R
I computer. 4 6. (a) What do you understand by

the use of stack and stock

3. Expiain the instruction set of SAP-I computer. What
is the size o smputer 2 4 subroutine. Explain anv other use of stack 4
Write an assembly languag ram that perform What will be the conterts of accumulator and flags,
overation in SAP-1 computer after the execution of SUN D iastruction; if A =
memory locations 7H to BH for C3H and D = A2H. 4

4 ‘
7. {a) Write a delay subrouiine srogram to introduce a
Unit 1} tme delay of 10 millisec using {wo registers,
4 iz
3.

b v TmEO b : 11
1OTel N MEMONY ocanon St

DCR C or DCRE A1 sinies

1-1122 : {2-i8/4) 4



Unit IV

8. Draw block diagram of a monochrome TV transmitter

and discuss in brief the function of each unit. 8

9. (a) Define the terms hue, saturation, luminance and
chrominance for a colour TV system. 4

(b) Explain how the luminance (Y) and the colour
difference signals are developed from the camera

outputs. . 4

1-1123 4 1,350

Roll No. coovinirinvvnncnnencce.

Time : Three Hours]

Note :
1. (a
)
()
(@
2. (a)

(2-16/6) 1.-1123

Total Pages : 014

GSG/D-17 1123

ELECTRONICS
Second Paper
Electronic Communication

[Maximum Marks : 4¢

Attemipt Five questions in all, selecting one question

from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

Why is high frequency carrier needed in a

communication systern 7 2
Define the term deviation ration and give iis

o

significance in frequency modulation.

Why i3 scanning nceessarv in TV transmission 72

Why is °Y’ signal set = 0.3R + 0.59G + 0.11B 72
Unit ¥

Define amplitude modulation and derive the

expression for an amplitude modulated carrier wave.

]

P.T.O.



3. fa)
b)
4. {a)

L-1123

A radio transmitter radiates 10 kW with the carrier
unmoduiated and 11.25 kW when the carrier is
modulated by a sinusoidal voitage. Calculate the
modulation index. Another sine wave is a capable
of producing 30% modulation. if both the sine waves

simultaneousiv modulate the carrier, determine the

total radisted power. . 3

Draw the circuit diagram of basic grid bias

modulator for generating amplitude modulation and

discuss its operation. 5

lated R¥ carrier power of 10 kW sends a
current of 10 amperes rms through an antenna, On
amplitude modulation: by another sinusoidal voltage,
the arntenna current increases 1o 11.6 amperes.
Calcuiate (i) the modulation index and (ii) carrier

power after modulation. 3

Unit 11

Show that in frequency modulation, the produced

sidebands theoreticallv extend upto infinity. 4

Ty

e

(2-16/7) ¥.-1123 3

In an FM system, the frequency deviation is 4 kHz,
when the modulating frequency is 200 Hz and the
modulating voltage is 4V. Compute the modulating
index. Also compute the frequency deviation and
the modulation index if the modulating signal
amplitude is increased to 12V and its frequency is
decreased to 100 Hz. 4

Draw the circuit and explain working of linear diode
detector used for amplitude demodulation. 4
Derive the expression for maximum value of RC
time constant in a linear diode detector so as to

avoid negative peak clipping. 4
Unit 111

Describe interlaced scanning. Show that it reduces
flicker and conserves bandwidth. 4
What is interlace error and discuss how does it

affect the quality of the picture ? 4

Discuss the importance of sync. pulses in a

4%

composite video signal.
Define vertical and horizontal resolution and discuss
how it affects the highest modulating frequency of

a TV system. 4

P.T.0.



Roll No. .....coeeniirnnrannne Total Pages : (13

GSQ/D-17 1124
COMPUTER SCIENCE
Paper 1

Fundamentals of Database Systems

Time : Three Hours] i Maximum Marks : 40

Note : Q. No. 1 is compulsory. Attempt anv Four questions
out of Units I, II. T and IV by selecting at least one

question from each Unit.

1. (a) What is . the relation between  Data  and
Information ?
(b) What do you mean by Privacy ?

(¢) What is the difference between Casual and Naive

<

end-user

(d) Give rwo examples of RDBMS scftware.  2x4=§

Unpit ]

2. Define and cifferentiate between record and file. Also
explain various limitations of traditional file based system.

8

(2-16/4) 1.-1124 P.T.O.



3. baplain the concept of Database, Database Management 7.  Write short notes on the following :

svstem and Database system. How are they interrelated (a) Object-based Data models
with each other ? Explain with the help of a block (b)  Physical Data models. 8
diagram and give an example also. 8
Unit IV
Unit II

8. Explain centralized and client server architecture to DBMS.
4. Discuss the role of various actors in database environment.

8

Also write advantages and disadvantages of centralized

and client server architecture. 8

2 (a}  Describe three level architecture of DBMS by using 9. (a) Explain various types of integrity constraints over

an example. What are its advantages ? 5 relations in a Relational Data model. 5
(b7 What do you mean by data independence ? Explain (b) What is Relational model ? Explain with suitable
various types of data independency. 3 example. Explain various properties of relational
tables. 3

Unit II1

[ I

esign o LR Model for a college database with the
wilowing assumptions : 8
raj A college contains many departments.

Lach department can offer any number of courses.

i Many teachers can work in a department.

{dy A teacher can work only one department.

(e) Each teacher can take any number of courses.
(f) A course can be taken by only one teacher.

A student can enrol for any number of courses.

h course can have any number ot students.

1-1124 2 (2-16/5) L-1124 3 : 3,700



Unir il

ROIINO. oot Total Pages : 02 4. Who are Internet Providers 2 Name any fwo and give
GSQ/D-17 1126 details about the services they provide in real life. 8
) . ,
COMPUTER m‘OHmZOm 5. Whai are the characteristics of Home Pag : 2 8
Paper I
Web Designing Unit 111
Time : Three Hours] , [Maximum Marks : 40 6. Nuke a staiic web site for Dewali theme. 8
Note : Attempt Five questions in all, selecting one question 7. Explain different tags for text formatting. text colors,
from each Unit. Q. No. 1 is compulsory. Al cuestions page fayout and text styles. 8
carry equal marks.
Unit 1V
1. Explain the following with examples :
(a) Ordered list Al tioas and boxes. 8
ATV Emmaoﬂ.m 2 / M 5 Mw
(¢) Marquees
d)  WWW. 4x2=8
Unit |
2. What is HTTP ? Where is it used ? Is it a secured
protocol ? 8
3. Whaut are basic features of web services ? 8
11128 2 3,700

(2-16/1) L-1126 PT.0.



Roll No. Total Pages : 03

GSQ/D-17 1128
COMPUTER APPLICATION
Paper I
Desktop Publishing

Time : Three Hours]. [Maximum Marks : 40

.

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

(Compulsory Question)

1. (a) What are the advantages of Story Editor ?
(b) Distinguish between paste and paste special.
(c) What do you mean by tracking and kerning ?
(d) What do you mean by Autoleading ?

Unit1

2. Define DTP. 5& are Hardware and Software
requirements for DTP. Explain various common features
of DTP packages.

3. Describe various components of PageMaker Window.

(2-15/7) 1-1128 P.T.O.



4. (a)
b)
S. {a)
b

Unit I

Explain various options of Document Setup dialog

1

DOX.

Explain various steps to import the iext in a

publicazion.

-

What do vou mean by tabs 7 State various types of
tabs avaiiable in PageMaker ? Explain various steps
to set tabs.

State various tvpes of indents available in

PageMaker. Explain various steps to sct indents.

Unit FII

6. Explain various opiiens of control paiette used ior

character and paragraph formatting.

7. ﬂm.m
(b
wu as

L-112

Explain various sieps to create celumns in the nage
and to place text in columns.
Explain various stess to check and correct the

speliings of words in a publication.

Explain various ﬁ@um to appiv and edit colcrs to

different obizcis 11 FageMaker

b3

(b) Explain various steps to insert and delete rows or

columns in a iable.

What is a Master Page ? Write the steps :

{a) to place the guidelines on the master pages
{b) to place page numbering on the master pages
{c; to place header on the master page.

2-1578) 1-1128 3 400



J 23071 B\ TR Total Pages : 02
GSQ/D-17 1130
COMPUTER APPLICATION
Paper 11

Programming Using C++
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks.

Compulsory Question

1. Explain the following : 8
(i)  Static data member
(i)  Static member function
(iii) Manipulator
(iv) Friend class
(v) Inline function
(vi) Delete operator
(vii) This pointer
(viil) New operator.

Unit1

2. Explain which are the benefits of object oriented
programming as compared to procedure oriented
programming. 8

(2-15/6) 1L-1130 P.T.O.

3. (a) Explain Data hiding and Encapsulation with suitabl
examples.

(b) How to access members in a class and structure °

Explain with example. ¢

Unit I

4. Explain default, parameterised and copy constructor witl

examples. §

5. Explain various formatted I/O functions. ¢

Unit II1

6. Explain new and delete operator. Also explain passing

parameters to function by reference and pointers. {

7. Explain string handling in C++ with suitable examples.
¢

Unit IV

8. What is operator overloading ? Explain. Write a progran
to add two complex numbers using binary operato;

overloading. {

9. Explain function overloading. Also write a program i

C++ to find volume of different shapes. §

L-1130 2 40(



Roll No

Plant m_ technology

{Maximem Mz

2. No. 1 (compulsory) and

solecting five questions from each Unit. Ajl

carry cqual minrks.
Compulsory Onestion

1. (@) ‘What are the

{by Define virritic

{¢) Whe is the father of Plant Tissue Culturz 7 I
(d)  Write the nio examples of auxin and cvickinia
each. I

fey  What is the role of vir ~E and G genes in

Agrobacterium medizted plant transformaion 7 2
&

(f)  Describe the disarmed 73 plasmids. 2

Unit {

4

2. {(a) Write a note on haploid plant production.

(2-15/3) 11134 £T.6,

inj
3. {(ay
(b
4. {a)
(b
5 (a)
(b}
6. (a)
(b
7. (&)
(D)
1.-1134

What are the a dvantages and limitations

Yy

culturs 7

of callu

Discuss the importance of plant tissue culture. 4

Write 2 brief sccoupt on svnthetic seeds,

Write a note on protoplasts fusion techniques. 4

Discuss the applications and limitations of embryc

culture.

Unit II

4

Write a note on strategies for gene transfer to plant

celis

4

Describe the binary and co-integrate vectors with

examples.

4

What are the advantages and disadvantages of direct

gene transfer methods ?

3

Write a note on seed storage protein enhancement
=

in transgenic plants.

5

Write a note on polymers and industrial enzymes

production in transgenic plants.

Define cryoprotectant with exainples.

~J

6
2

1,300



8. Describe the causes, dietary management and nutritional

requirements for cirrhosis of liver. 8

T foEIfae ® U 90§ | W UM = & fag
EdT sqaXen TS diftes Evgsaet w1 ol wIfee |

9. Discuss various dietary approaches used to loose body
weight. Name various foods which should be avoided by

an obese person. 8

YRS o9 w8 FE 8d (Y 9 9 AERE IuE H
Fui Fife | ol a9 9 Sf| @ RI-R T
e W€l @ ey ?

L-117% 4 250

ROIING. covvcreernecnnrenacsesnens

GSQ/D-17 1179

DIETETICS-I
Course 301

Total Pages : 04

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least two
questions from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks.

ToF THE ¥ ¥4 W FU A W N L, HA WA
i @ I AT | g wem 1 ofed € o med
WA # oE wEm ¥

Compulsory Question

( g weT)

1. Answer the following in 3-4 sentences :
(i) Mechanically soft diet
(i) Protein requirements in preoperative stage
(iii) Fat intake in liver diseases.
(iv) Energy Metabolism during fever.
(v) What do you mean by ulcer ?
(vi) What is imaginary diarrhoea ?

(viiy BMI
(viii) Role of fiber in constipation. 1x8=8
(2-07/16)E 1179 P.T.O.



L1174

jﬂﬁo@mﬂﬂ%w-&mﬁ&wﬂﬁﬁm“

(1) Tf=F TH MR

(i) TE ¥ gd A § uEm # enevaeand
(iii)y 9%d & W § o°@ ¥4 F BT =R ?
(iv)y, SR ¥ & F =@ewas

(v) TR fFg wed ¥ 2

(vi) FeutE sfan s g g2

(vii) StumemE. (BMI)

(viii) et H W w ATEH |

Unit 1

ECAER

How can we modify normal family diet for therapeutic

use 7 ‘ 8

I 99 % AU e

Explain etiology. objectives of treatment and dietary

management of atonic conspitation. 8

STd ZA T F59 % HRY, THER FH ST U6 SR

YE=H T FUH FIFT |

(267711179 3

Discuss the causes, symptoms and foods recommended

for peptic ulcer. 8

ok TR ® WHM FNU, @wv s WM w Kw 9w
Il W 9Kl T U St |

Describe the metabolic changes and dietary management
during acute fever. 8
de SR H TETEEd H - §gerd oW § 2 dF s
® TN & fou erR =geeen %1 avi Hifae |

Unit IT

ECaER |

Discuss the etiology, health hazards and dietary
management for an underweight person. 8
Tl w1 O HIC | T W0 R ET SUAR By |

What is Gout ? Suggest suitable dietary modifications for
a person suffering from gout. 8
IR T M F ? AN U0 Y WA = H I MR
Hl-E] FEeld oed, gAY |
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Unit [
ECOERR

he factors retarding fashion by defining fashion

).
T

figure types and

W

Write the various

fitting problems (at least §
i fyny o % A g
TG UREE YA (W G Fm o5 Fem ww)

T R FITT qo -ﬁmﬁ& fa
F WEA W a0 i

Classify dyves and write in detail about househole

T eliEm w e W w R
ne
DT |

(a)  What are the tools required for ‘tie and dve’

IR IRcici o

5 F o g som

ER

and write the methods of hand printing.

~
3
i
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&

ST BN OER BT @ fafiny
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Roll No. ccorcecnsnciseravosenens Totual Pages : 93
GSQ/D-17 1181
EARLY CHILDHOOD EDUCATION AND
CHILDREN WitH SPECIAL NEEDS
Course 303

Time : Three Hours] [Maximum Marks @ 40

Note : Attempt Five questions in all, selecting at least rwo

questions from each Unit. . No. 9 is con
UeE TRE W & W TR 87, %9 uiw w7 o

~ B . - _ —_ X
R 9 e ¢ @Re g

Unit i

1. Explaip the principles of planning for vreschosi

s

-

programme.

g wEa ¥ P @ fo fagil =1 sede fan

2.  Give the criteria for the selection of indoor and outdoor

equipments. 8

I F A H AT I F g wW o fea @l

w wam 0 e afer 7

{2-68/3y 1 .1181 P,



3. Describe any mwo types of early childhood education

centres. 8

FE W OYFR B qd wremEEen e =) @ go
I |

4. Compare the theories given by Rousseau and Froebel
regarding nursery school education. 8
T e @ 3 S R WRe W frerem §
e Y

Tnit 11

s 11

5. Explain the educational provision for gifted child and
mentally retarded child. 8
afir gEaE w1 99w |

6. {2} Define the children with special needs.
fafrs arrvrEw w19 was 5 afafg HITT |

(b)  Explain the nsefulness of welfare programmes meant

for these chidom 3+5=8§

T EE R R SRR FEEE @)

T gy FH g

v

L-1181

2-08/9) 1.-11%1

Define and classify the cerebral palsy. 8
e dfeet = T A Fifimd ity |

Explain the role of community as a whole in bringing the
exceptional children in the mainstream. 8
fafer= s w95 U § w @ o o dhem
W g eifer |

Compulsory Question
{ tframt wow )

Explain in brief : 4x4
(aj Importance of Early Childhood Education

{b) Functioning oi Anganwadi

(¢) Causes of speech disorders

W) Welfare programmes for children.

wiaw ol Fifse .

b

230



ROII NO. cecorvcceransncnsarisesane Total Pages : 63

GSQ/D-17 1182
HOUSING
Course 304

Time : Three Hoursj [Maximum Marks : 40

Note : Attemipt Five questions in all, selecting fwo questions
from each Unit. Q. No. 1 is compulsory. Ali questions
carry e¢qual marks.

Afeg | e wow 1 e B gt v w M
ol S

Compalsory Question

( sifyara wye)

1.  Answer the following -
{a) Site
(b) House
(c) m@_.osoaw ,
(d) Asthetics. 2x4=8

faafafen & s @fe
(37) M
() FHE

(2-08/5) L-1i82 _ P.T.O.
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1-1182

Unit 1

FHE I

Write down the advantages and disadvantages of renting
& house, 8
T % OEM F T ol wie Ericll

‘¥hat points will vou keep in mind while purchasing a
P f

TR P

#rite in derail about bricks and tiles used for construction

ol house, 8
%mgiﬁ;ﬂgmﬂmﬁﬁgﬂmﬁﬁm&

Yo do co-onerative b using sccieties help in arranging

fou

EERNASTE 1} SR RURAILP PP

o 5\ ~ N )
TRATI O W T e w7 TR OTIELT

¥

12-08/6) 1.-1182

Unit [1

ECER

Expiain any four symbols with drawings used for reading
house plans. ‘ o 8
T T W B o e o A s
fog @ ey ain FHifeg

What points  wil} you keep in mind whije space
planning ? 8

T

Do the space planning of bedroom of a middle income
family, ]

,
22

Gt

fHow will vou do the lighting arrangement insice the

5

“ouse 7 .

W TR TEW W v s Y OB 7

o
hed
¥ ¥
e



Roll No. ceecenincermecencnnncs Total Pages : 03

BCA/D-17 1251
WEB DESIGNING FUNDAMENTALS

BCA-351

o

-

Time : Three Hours) [Maximum Marks : 80

Note : Attempt Five guestions in all, selecting at least one

stion from mm%: Unit. Q. No. 1 is compuisory. Al

qu

ons carry egquat marks.

Compulsory (Juestion

o

(¢) Domain Name System
(dy Imernal and External Linking
(e} Vveb Browser

Enit £

2. What is Internet 7 Explain the various services of Internet

in brief.

el

(a}  Fxplain the web casting techniques in brief.

L)

(by  What is weh server 7 What are its advantages

(2-1i/3)

L1151 | K



Unit 1L (b)
(a) What is Website ? Explain the various components
of website.
(b) Differentiate between Static and Dynamic Website.
9, (a)
What is Web Hosting ? Describe various types of web
hosting service. Also write the steps to hast your website. (b
TUnit I}
(2) Describe the struciure of HTML document.
{b) Explain the following tag in HTML :
i <BR>
(i) <HR>
(iii) <Marquee>
(iv) <FONT>
(a) Explain various text style tags in HTML with
examples.
{b) What is HTML 7 Describe the features of HTML
document.
Unit IV
{(a) How are tables created in a web page 7
11231 2z Q-1 i~

H
i

Explain the following in HTML :
(1) Radio Button
(i) Check Box

(ii) Menu.

What is Frame in HTML ? Explain <Frame> tag by
giving example.
What is Form ? Describe the syntax and use of

<Form>tag.

251 3 2,509



Roll No. v, Total Pages : 02
BCA/D-17 1252
OPERATING SYSTEM-I
BCA-352
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. selecting at least one

question from each Unit. Q. No. 1 is compulsory.
Compulsory Question

1. (a) Define an Operating System.

(b)  What do you mean by Buffering ?

(c)  Expand the following abbreviations
FCFS, SIF, FIFO, LRU.

(d) Define the term Scheduling.

(e)  What is a "page’ in paged memory mana:zonient
system ?

(f)  What is ‘Safe State” regarding Deadlock Avoidanc» ”

(g)  What do you mean by a file ?

(h)  What is Thrashing ? 2%8

Unit I

2. Discuss the various functions performed by an Operating

Svstem 16

{2005y 1 .jesy ILEIRE)

3. Explain Multiprogramming Operating System in detail.
16

Unit I1

4. (a) Introduce the term process. 4

(b) Explain the various process states and their

transitions. 12

5. (&) Discuss SJF Scheduling. 8

(b)  Discuss Priority Scheduling. 8
Unit 1

6. Explain Deadlock Detection and Recovery. . 8.8

7. Write explanatory note on womEmemos. 16
Unit I'V

8. Write the FIFO and LRU Page Replacement Algorithms.

8,8
9. Discuss the various file types and file attributes. 8,8
L-1252 2 2,400
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ROINO. cvveiniinnieneersnsen Tota! i'zzes: 03

: 80

Time : Threc Hours] Maxamum M

Note : Attempt Five guestions ms all, selecting ai least one

» o

question from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks.

Compuisory Queastion

1.  Answer the following questions 1a short :

{a) List the varions controls used in VB 7 2
(t) What is a Combo Box ? 2
(¢ Define Message box in VB. 2
(d) Explain use defined data type. 2
(e) What is select case stafernent 7 2
(f)  What is the use of EXit statement 7 2
(g) What do you mean by named mﬁmﬁnmim 7 2
(h) Explain passing mechanism in VB. 2
Unit I

2. What is IDE 2 Discuss the following components of
IDE :
(a) Toolbar

~ (b) Project meoRH
(¢) Form Desigver
(d) immediate Window. 16

(2-02/6) 1-12%5 P.T.O.



What is User Interface 7 And how we can design user

3.
. Interface. Explain with suitable example. 16
Unit IT
4. (a) What is a variable and also discuss variable
constructing rules in detail. 8
(b)  Explain the following
Variant type, Object data, Boolean data. 8
3. Define various types of operators in VB with examples.
16
Unit I
6. (a) Explain control structure of VB, 8
(b)  Differentiate between if-then-else and case structure.
8
7. (& How will you declare a two-dimensional array in
VB ? Explain with suitable example. 8
(b) Differentiate between do loop and while wend loop.
8
Unit IV
8. (a) What is a function and how does it differ from
procedure ? . 8
(b}  Discuss the procedure of creating menu in VB, 8
L-1255 2

9. Design user interface for the tollowing EoEmE and write

the code :

Take two textboxes, labels and command buttons give
proper caption, textboxes should take the values of length
and width by o:o?sm on command buttos. Display the
area of rectangle in Jabel where (area = length * width).

16

(2-02/7) 1-1255 3 2,300
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‘BCA/D-17 12506
MUTLTIMEDIA TOOLS .
BCA-356

Time : Three Hours] [ Maximum Marks :

Note : Atterapt Five questions in all, selecting at least o
question from each Unit. Q. No. 1 is compulsory. All

questions carry equal marks.
Compulsory Question

1. (a) Define Multimedia. . 2x8=16
(b) What do you mean by VRML ?
{¢) What are different commonly used file formats

(dy How is conventional TV different from HDTV
() What is difference between Analog and

Puice Code Modulation.

1
©

(gy What is Trausform coding 7
(h) What are different modes of JPEG standard

7. What do you mean by Multmedia Authoring 7 Explain

-

fyoes ol Authoring tools. 16

&

6.

n Images and Video. 16

Unit 111

3

{a)  Write a short note on MIDL 3

Y

»

{b) Explain various digita! audic {

A».{.

e formats, 8

it

&

)

o

Explain MPEG video compression echiigue. How is it

v :.4
ditferent from H.261 7 16



Roll No. ...cccoriirencvnsnnne Total Pages : 03

OBCA/D-17 1257
INTRODUCTION TO OBJEC1
ORIENTED PROGRAMMING
BCA-351

Time : Thres Howrs] [Maximurm Marks : 80

Note : Attempt Five questions in all, selecting at least one

question lrom each Unit. Q. No. 1 is compulsory.
(Compulsory Question)

1. (20 What is #ifdetf ”
(h)  What are the characteristics of Procedure Oriented
Programming 7
(¢y  Differentiste hetween Linear Search and Binary
search,
(d}  intferentiate between “address of” and ‘indirection’

aperaior 4x4=16
Unit §

2. (a) Differentiate between macro substiiution and

Rinctions. 8

(2-02/8) ¥ .-1287 P.T.O.



/

(b) What are tlhic conditional compilation directives ? Unit IV

Illustrate with example. 8
8. (a) What is Inline function ? Explain it with example.
3. Write short notes on the following : 8
(a)  Encapsulation (b) What is Operator Overloading ? Write a program to
(b)  Class and objects overload unary (-) operator ? 8
(c) Static Data members
. . 1 W TR B w P
(d) Data Absiraction. 16 9. Explain all the operator in C++ by giving example. Explain
its precedence. 16
Unit 11
4. Explain all th: formared and unfrrnatted VO operstions.
16
5. What ic the Dvnamic Constructor ! What are its
advariages 7 8
by What is the difference between Default constructor
and Parameterized constructor ? 8
Unit HI
6. 7 Funiain all icn by giving

16

7. {2} What 1z = Fointer 7 Dustrate with example.

(by What is an Array 7 What are the advantages of

using array ? 4 progrant 16 sort an arras using

Bubble Sort ? 16
L-312357 4 (2-62/9) 112587 3 ZEG
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Qmﬁbm\ U.\m 7
SOFTWARE 1

Time : Three Ficurs] '8 -
. . - , . . : of
(). No. i is compulsory. Attempt Five questions in ail.
selecting at least one question from eech L Jnit in addition '
to Question No. 1.
{Compuisery Question) .
1. (a) Whar are the advantages of Prototype Model 703 e

(b) What are the characteristics of SRS 7 4

(c) What problems arise if two modules e high
coupling 7 3
(d) Lifferentiate between blackbox aud white DOX

testing. R

ot
iy
)

(¢) What is relationship between and fatlure

.

e K 2
sfing o
btk - o
2. modei for software development 7 oy 2 dinoam "%
proferable 7 it )
otk oy 1259 ”
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OBCA/D-17 1260
COMPUTER NETWORKS
BCA-354

Time : Three Hours] [Maximum Marks : 80

Note @ Attempt #ive questions in all, selecting at least one
question from each Unit in addition to compulsory Q.

No. 1.
(Compulsory Question)

1. (a) What is Frame Relay Network Technology ?

(bj  What is the need of protocol ?

~

{¢)  Define bandwidth in the coniext of computer

neiwork.,

T i

s What 15 DS Intornet Diitereauaw  Setweer

wwrametrical and asvmmetiice! DE
) Mirris Gatewny 7
(fy  “hat 1s drawback of Hierarchice routing ?
() is Router ?
() erentiate between Symmetric xcv ond Public-

crvprosystem. 16

(2-03/3) 1,-1250 P.T.O.



Unit I Unit IV

2. Discuss any four network topologies in detail, with their 8. What is routing in network ? Discuss about shortest path
performance indicators. 16 routing with iilustration. 16
3. (8 Explain connection-oriented and connection-less 9. “What is congesticn and what are the causes of congestion ?
SETVvICes. 6 Zxplain the niethod of congestion avoidance. 16

{b)  Discuss various network design issues. i0

Unit 1T

4. Ixnlain  unguided trapsmission media aiong  with

UANSMISSIoONn characteristics,

. “What do you mean bv Switching 7 %xplain ditferent
pes ol switching aiong  with advantages  and
disadvantages. 15

Ynit 1T
6. Write short notes on the following :
(@  Go-Back-N Sliding window Protocol
(b) Fast Ethernet implementations. 8+8

7. (a) What is FDDI ? Explain FDDI nodes.
(b) What is Bluetooth ? Discuss different types

(versions) of bluetooth.

L-1260 2 (2-03/4) 1.-1260 3 250
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BSIT/D-17 12136
COMPUTER SYSTEM ARCHITECTURE-I
BSIT-501
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.
(Compulsory Question)

1. (2 What is a Register Transfer Logic (RTL) ? Explain
it with an example.
(b) What is an O Interface ?
(¢} How is CISC architecture more effective ?

(d) Explain the design of accumulator logic ? 2 each
Unit §

2. (a) Compare register reference and memory reference
instructions.

(b) What is the format of an instruction for a computer ?

4.4

(3-27/3) L-12136 . PT.O.



1-12136

(@)

(®)

How are timing and control signals generated by

CPU (Central Processing Unit) ? 4

Show block diagram of the hardware that

implements the following transfer logic : 4
T, : R, « R, R; « R,

Unit 11

Design a typical stage that implements the following

logic micro-operations :

w~“>AIM<w
ww“wT><w
P,:A«<~ AVB

P;,: B« A Vv B

If contents of register A is 1110 and that of B is 0110,

show that either one of the micro operation sequences

listed below produce the difference 1000.

(a)

(b)

H~”>TM
T, : A« A+
T;: B« A+B
T,: B« B
T,:A« A+B
T;: B« B~+1

(]

6. (a)
(b)
7. (a)
(b)

Unit 111

Draw the diagram of micro-programmed sequencer
for a control memory and explain it. 5
Differentiate a direct and an indirect addressing

modes. v 3

Contrast the horizontal = microprogramming
(long format) with vertical microprogramming (short
format). 4
Write microprogram to swap the contents of register

Rl and R2 ? 4

Unit 1V

8. Write notes on the following units of central processing

332

units :
(a) Adder Unit (Adds signed fuel integer numbers)
(b) Multiplier Unit (Integer Multiply)
(¢) Logic Unit (All Boolean Logic Operations).
9. (a) List characteristics of RISC architecture and explain
use of overlapped register windows.
(b) Elaborate types of interrupts with example of each.
4,4
(3-27/43 1L-12136 ‘ 3 v 400
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BSIT/D-17 12137
PROGRAMMING IN C++
BSIT-502

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. All

questions carry equal marks.

(Compulsoy Question)

1. (a) Explain the various bitwise operators in C++. 2
(b) Explain the use of null character in strings. 2

(¢) Describe default arguments in C++ with an example.

2

(d) What is a constructor ? 2
Unit I
2. Explain the following :

(a) Enumeration 2
(b) Reference 2
(c) TFloating point data types 2
(d) For loop. 2

(3-11/6) 1.-12137 P.T.O.



5. {a)

85}

{b)

concepts of OOPS. &

Unit 1}
> purpose and syntax of structure in C++
suitable examples. 4
sgram 11 C++ 1o sort the list elements
4

What are pointer variables ? Explain the use of
address operator (&) and dereference operator (*)
with pointer variables. 4

kxplain the purpose and syntax of union data types

in C++ with example. 4

Unit I}

Explain the concept of recursion through one
example. 4

Describe fimction overloading in C++ with an

Z

exampie. 4

Explain different tvpes of argument passing in C++
with example. 4

Explain the coucept of pointer to function in C4++

R

with suitable example. .

o]

[
e
X
7"’,

Unit iV

ain the following

Oo,gu,n constructor Z

S polnier Z
Static dazta members Z
Destivetor, 2

Explain the concept of class and objects in C++
with an example. 4
Explain the concept of passing objects as arguments

in C++ with an example. 4

L0

Spifu
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BSIT/D-17 12138
COMPUTER
BSIT-503
Web-Site Design Implementing Basic Design
Tools-]
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least one

Guesticn from each Unit. Q. No. 1 is compulsory.

1. Write short notes on the following : 2%x4=8
(a) <I> tag
(b) <UL> tag
(¢) <IMG> tag

(v <Marquee> tag.
Unitt

Z. Wrlte steps to create and view =THL pages 8

s tay  Describe coler setting in HTML using hexadecimal
numbers.
(b)  Distinguish between container tages and empty tages

giving at least four examples of each type. 4

(3-11/8) L.-12138 P.T.O.



Unit II

4. (a) Briefly describe block level and text level elements
in HTML. : : 4
(b) Briefly describe headsection elements. 4
5. Write short notes on following : 3+3+2=8
(a) <FONT> tag
(b) <BASEFONT> tag
(c) LONG attribute.
Unit ITI
5. What do you mean by external linking ? Briefly describe
the following external link attributes giving suitable
example(s) : 8
(a) HREF
(b) NAME.
7. Briefly discuss the following : 4x2=8
(@ <A> tag
(b) Linking with specific E-mail address.
1-12138 2

Unit IV

Explain the following attributes of <Tables> tag : 2x4=8
(a) CELLSPACING

(b) ALIGN

(¢c) BACKGROUND

(d) HEIGHT

giving suitable examples.

Write HTML code to generate the following table : 8

Bill Table

Item Price Qty. Total
500 4 200

Type A =
1000 3 3000

70 5 5
Type B 0 3500
9500 6 5400

(3-11/9) 1L-12138 3 400



Unit {1

- Pgoog - 4] .
AL aages o 4. (a) Compare and contrast FTP and Telnet. 4

6 (b)  Explain any tour Telnet Commands. 4

5. (a) Write down the steps to configure a FTP Server.

1

(b)  Expiain the FTF ..

nds to download and upload

a file from server, 4

6. What do you mean Oy Search Engive 9 Explain its
“
working, 8
)
FA
2 ~ 171 o T B 4
/+ What do you mean bhyv W3 and discuss i1s
~ b et . ;
of xierpet working 8

2

Unit iV

8. Discuss satellji= internet connection and its characteristics,

! 9. 'rite short notes on the following :
. (a) Cable TV Internet connecion 4
. 1 (b) Symmetric DSI.. 4

L-12139 2 400
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BSIT/D-17 12140
MICROPROCESSOR ARCHITECTURE
& PROGRAMMING
BSIT-505

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question

from each Unit. Q. No. 1 is compulsory.
Compulsory Question

1. Amv_ Explain Stack structure of 8086. 2x4
AS Differentiate between dynamic and static RAM
interfacing.
(¢) Discuss Mesh topology and its advantage.
(d) Write down the design issues of RISC processor.

Unit1

2. (a) Explain interrupt. Also discuss interrupt cycle of
$086. 4

(b) Discuss difference between Macro and Subroutine.

4

(2-63/11.-121490 P.T.O.



(b)

4. (a)

(b)

(b)

(b)

1L-12140

Differentiate between maskable and non-maskable

. 585%%., , 4

Write an ALP to generate 100 msec. delay using a

microprocessor system that runs at 10 MHz. 4

Unit II

In detail, discuss the procedure of interfacing
&Bwawo RMM with CPU. )
Write ALP to display numbers 1 to 8 on segment
displays interfaced with 8086 outputs ports. The
7-segment codes are stored in a look-up table serially

at address 2050:0000H onwards. 3

Discuss memory-mapped and 1O mapped interfacing

methods. -4

Interface two 8K RAM chips and two 8K EPROM

chips with 8086. 4
Unit IIT

Discuss the architecture of 8087. 6

Explain purpose of SOC and EOC control signal of

- ADC. 2

(2)

(b)

(2)

(b)

(@)
(b)

Interface 8 bit ADC 0808 with 8086 using 8255
with suitable diagram. 5
Discuss key features of Multiport  Memory

Configurations. 3

Unit IV

Explain Real address mode and protected virutal

mode of 80286. 4
Discuss design issues of RISC Processors. 4
Discuss salient features of 80286. 4

Explain the advantages and disadvantages of RISC

processor. 4

(2-63/11)1-12140 3 : 400
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BSQ/D-17 16571

ENGLISH
(Modern British Literature-I)
Paper-XI
Time : Three Hours] [Maximum Marks : 80

Note : All questions are compulsory.

1. Explain with reference to the context :
(a) Where the wandering water gushes
From the hills above Glen-Car,
In pools among the rushes
That scarce could bathe a star,
We seek for slumbering trout
And whispering in their ears
Give them unquiet dreams;
Leaning softly out
From ferns that drop their tears
Over the young streams.
OR

The work is done, grown old he thought,
'According to my boyish plan;
Let the fools rage, I swerved in naught,
Something to perfection brought;

16571/600/KD/1588 [PTO.



(b) "The solid earth sways like the treacherous sea beneath
the feet of men and spirits alike when the innocent are
slain in the name of law, and their wrongs are undone

by slandering the pure of heart."
OR

"Where What will the world be when The Church's
accumulated wisdom and knowledge and experience,
its councils of learned, venerable pious men, are thrust
into the kennel by every ignorant laborer or
dairy-maid whom the devil can puff up with the
monstrous self-conceit of being directly inspired from
heaven ? It will be a world of blood, of fury, of
devastation, of each man striving for his own hand :

in the end a world wrecked back into barbarism."
(2%6=12)

Attempt any six questions of the following :
(a) Description of 'Love' in the poem "When You Are Old".

(b) Comment on the objects of nature in "The Lake Isle of
Innisfree".

(¢) "For the world's more full of weeping than you can
understand.” Discuss.

(d) Elaborate the importance of "Horn of Plenty".
(e) Importance of Epilogue in Saint Joan.
(f) Why Joan wears a soldier's uniform ?

(g) "I will not look back to see whether anyone is following
me." Discuss Joan's identity based on this statement.

(h) Comment on the character of The Dauphin.
(6x4=24)

16571/600/KD/1588 2

Write short notes on any two of the following :
(a) Quixotic elements in Yeats' poetry.
(b) Yeat's style is unique among both nineteenth and
twentieth-century poets. Discuss.
(¢) How do the terms "Protestantism"” and "Nationalism"
threaten the Church of the era of Saint Joan ?
(2x7=14)

Comment on the central idea of the poem "A Prayer for
My Daughter.” .

OR
Write the critical appreciation of the poem "The Wise Old
Wicked Man". 15

The first three scenes were "Just theatre.... With Scene Four
the play begins." Discuss with reference to the play
Saint Joan.

OR
What possible meanings could Shaw trace by entitling his
play Saint Joan ? Elaborate. 15

16571/600/KD/1588 3
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BSQ/D-17 16572

INDIAN WRITING IN ENGLISH

Time : Three Hours] [Maximum Marks : 80

Note : Attempt all questions.

1. Explain with reference to the context :

(a)

(b)

I ask you to pause

and to hear it again,

but you sweep ahead to hear

another music.

It's true we cannot live on echoes
OR

The London seasons passed me by.

I lay in bed two years alone,

And then a Women came to tell

My willing ears I was the son

Of man. I knew that I had failed.

I give up, Devdatta. I surrender to your judgement. I
hadn't though anyone could be more beautiful than the
wench Ragini who acts Rambhain our village troupe.
But this one ! You're right — she is Yakshini, Shakuntala,
Urvashi, Indumati all rolled into one.

16572/600/KD/2001 [PTO.



2.

3.

OR
To be honest, Mr Bhagwata Sir, I have doubts about
this theory. I believe - in fact, I have doubts about this
theory. I believe — in fact I may go so far as to say I
firmly believe - that its this sort of sentimentality which
has been the bane of our literature and national life. It
kept us from accepting Reality and encouraged
escapism. (2x6=12)

Attempt any six of the given questions :

(a) What does Ezekiel mean when he says "It started as a
pilgrimage ?"

(b) What is the similarity between a poet and lover ?

(c) Comment on the theme of the poem "Philosophy."

(d) Why does poet call himself a "poet-rascal-clown" in
the poem "Background, Casually"?

(e) Comment on the title of Hayavadana.

(f) Comment on the relationship of Kapila and Devdatta.

(g) Why does Kapila cut his head in front of Goddess
Kaali ?

(h) Comment on the comic elements of the play.

(4x6=24)

Attempt any two short notes selecting at least one from the
each text :

(a) Diction of Ezekiel's poetry.
(b) Structure of Hayavadana.

(c) Supernatural elements in Hayavadana. (2x7=14)

16572/600/KD/2001 2

4. Attempt a critical appreciation of the "Poem of Separation".
OR
Comment on Indianness of Ezekiel's poetry. 15
5. Comment on the use of masks in the play.
OR
"While the Brahmin poet is wise, he is not physically
appealing”. Comment on the theme of the play in the light
of above statement. 15
16572/600/KD/2001 3
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BSQ/D-17 16599
SANSKRIT ,
Sarhhitd Vyakarnam Cha
Paper-XI
Time : Three Hours] [Maximum Marks : 80

A wf W FIER SW R
1. 3 oy swWEs W F OSW T
(F) R & = F1 W &g
(@) frvagw & =y 1 W foE
() FrEgwergE ® @@ # AW g
(o) qfrgE & @ @ Tw el
(¥) VY- TFR, JI9 Y, THISF F1 &9 fFEl
(@) AfrEF & 7= ® v w1 AW @l
(®) TRE™ =R ! AR o)

(%) @wfm = =1 gy foad) (2x8=16)
2. (F)FR wfem o o ow A w @ ow= S =
X
(%) sfTeiel Qfed, 99 g
TR TS|

() T W= TqfEE I FIA

T FEON MYEEEE HI
16599/100/KD/1323 [P.T.O.



w.

gareeasfe gfem:
g § e T
(@) 7 e wem 7= favs
IqE IR T T
TR I T
Fw T wfaw faumi (5%2=10)
A@vﬂﬂﬁ@gﬂaﬁmﬂ%@@_ 6

Aﬂﬁ%%%ﬂim@&mﬂ%%%
FX
(a7) T Tadfa ¥ aggeE agefal
Tom wAfrw e g9 7 REeseaEel|
(F) ¥ wHTgTE WA a9 Frata Ry e
TR AEE=: Yo a9 T Reeseae|
(9) GERfREaTTE s et =)
Taf= T wfEs T w9 rEeseTERl
(5x2=10)
() e # R o) 6

Aﬁﬁﬁﬁﬂﬁ@ﬂ%ﬂnimﬂ%%ﬂ@i”
(37) ¥ gegagy fan AW gw A gl e
Q&ﬁﬁﬁﬂﬁnﬂa%%ﬁmg:

(F) SETY WeAE WA g SEEd: YA WHeE
el simeft faufd gfeet 7 weEReRd A0

16599/100/KD/1323 2

() T GRE: GEERERS AR &R
T A ofedfam: T gEmel ey aEel

(@) i F1 =R fag

(5%2=10)
6

5, Aﬁwmﬂﬁéﬂm‘g&ﬁ&ﬂmﬁﬂmﬂﬁ_ 8

(@) gedE T R e F

16599/100/KD/1323
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BSQ/D-17 16600
SANSKRIT
THGUE
Paper-XII
Time : Three Hours] [Maximum Marks : 80

e . mft v e #

1, frafafEs 31 & s 9fSu .
(F) T F e 9= 2
(@) T fFm wER 1 2

(9) FRO F fre 97 ¥
(F) oA fFa TR #1872

GIIRIE 1 | A U wie
(D) HAERTEREE F 7 Fed 87
(F) SFAFE corrrrrrrrrrinnes | 9 W HBMEY (8x2=16)

2, (%)W I IR ¢ g TR ¥ vl FifEg

3T
R \fEd @y ywo Fo=en e 10
(@) frafafea ¥ & & #1 = #ifve .
(37) et girah
() vETagid 6
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3.

h'

5,

(%) Tl F U FIf
| 3erEn
TeuEaE F1 fawR 9 guiR Fifag
(@) ‘weEfEm =i’ s ‘T3 @
wfafrRy | S feooft fafaw

frafafes & @ @ 9 =Ew FiN:
(F) TR0 FREETEY)

(@) SuffrwTOEEE|

() srfeRvETENY  FRUHEREAR: |
(%) SR FERErRarah:|

frafafeas & @ € F1 e FC
(F) A V=K

(@) TRFHfe=ATeaRT ||

() SRR FHI

(%) derfeEfay:

16600/100/KD/740 2
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(viii) Who associated the Input-Output Approach ?

(a) Lucian Pye

(b) David Easton

(c) Laski
(d) Aristotle.

ra-frfa gfewn & mdw €

(3N qfeas
(F) M ==
(|) o=t

(X)) =\

Time :

16602/200/KD/1597
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BSQ/D-17 16602

POLITICAL SCIENCE
[Comparative Politics (Theory)]
Paper-I1

Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal

marks.

fa=i gfg 9vi # T AR o T @ ofw @A )

Describe the meaning and scope of Comparative
Politics. 16

e Torfa @ ored wen fawa-am w1 v AR

Define Comparative Method and discuss the features and
problems of the Comparative Method. 16

ToET TEft @ Wi R SR g TEf
favTearstl iR GEEH %1 quie Hife

Discuss Lucian Pye's views on the concept of Political
Development. 16

TefrE fawm #= ouwon @ e § afen i # e
FT N FLU

16602/200/KD/1597 [PTO.



4.

Explain the structural-functional approach in comparative
politics. 16

TS AT H FATeweh - Fehratenss gfesior 31 sme
FifeT)

Define in detail the merits and demerits of Rigid and

Flexible constitution. 16

gﬂﬂ@%ﬁ%imﬁﬁu&%ﬂgﬂ_

What is Constitutionalism ? Discuss its features. 16

WEYFER w1 R ? T fava T

Write a note on independence of Judiciary. 16

AT FH AN W T o E

What do you mean by Pressure Groups ? Describe their
methods of working through which they obtain their
objectives. 16

T W W S R SR 2 I g o wiva
ﬂ%ﬁﬂiﬂ%ﬁmﬁ%@ﬂ_

16602/200/KD/1597 2

9. Objective Type (Multiple Choice) Questions :

TS 3

)]

(ii)

16602/200/KD/1597 3

Who firstly used the Comparative Method ?

(a) Aristotle

(b) Plato

(c) Bryce

(d) Nehru.

e weeht AR gores woft w1 wEm e o
(H) 3=

(F) =

(9) 9|

(%) Ew

Who is the Author of book "Theory and Practice of
Modem Government" ?

(a) Carl J. Friedrich

(b) Herman J. Finer

(¢) Aristotle

(d) Piato.

"Theory and Practice of Modern Government" & /g%
w9 ¥

() F A Bfew

(F) T W wRR

(|) |
(3) ==

[PTO.



(i) Who is the father of behaviouralism ? AYfETRT § B TEtug T R 2
(a) David Easton

(b) Dahl (31) S

(¢) Marrium () =4 foan

(d) Plato. (W) qera

ErER # frm # € 2 (7) @

(37) AT t=m (vi) Who is the Author of book "Prince" ?
(a) Machiavelli

(%) sz (b) Plato

(®) wfaw © Laski

(3) =N (d) Montesque.

(iv) 'Who is associated with the Theory of Separation of "Prince" TH® T&F F TEF FH L ?

Powers ? €D erarasht

(a) Gattle @) =

(b) Laski

(c) Montesque (®) =t

(d) Aristotle. (3) =R

e 2 U Y T gty ¥ 2 (vil) The nature of Modern State is
(a) Welfare state

(%) et (b) Dictatorship

() wr=n (c) Military

(R) o= (d) Police State.

GRS ( M T F =Y B

(v)  Which is not associated to modernisation ? (37) FEOER TF

(a) Illiteracy () TqERTE

(b) Higher Education () IF T

(c) Literacy - .ﬂ;ﬂﬂ =

(d) Independent Press.
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BSQ/D-17 16603
POLITICAL SCIENCE
(International Relations)
(Theory)
Paper : P-1I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Select one question each
from Unit-I to Unit-IV, while Question No. 9
(Unit-V) is compulsory. Each question carries 16 marks.

e . FW U T H IW INY THE-I TRV TF
TOF TFR 9 TH WA F 9FA HINU, J&E 999
& 9 (TFE-V) A Bl E WH 16 S @
2

UNIT-I ( ZhT8-1 )

1. Define International Relations. Discuss its scope and
purpose.

TS TR # R A e wEEs &R
RFF H TR FU

2. Can International Relations be considered an autonomous
discipline ? Discuss.

N TR T F OUF WA N WA W 9
27 faEwm =¥
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UNIT-II ( $eht3-11)

Critically examine the Idealistic approach to the study of
International Politics.

FRATET TG T AT FR B fAQ SREIARY
s w1 gHigs stemaR Hifw

Write down the characteristics of Marxist-Leninist approach
to International Relations.

T T & A -afaad fagre 1 favvan
g

UNIT-III ( ¥&hTE-111 )

What do you mean by National Power ? Write its main
elements.

T wiE W o W Ao ¥7 T g T
FA-8 #7

What is International Law ? Discuss its role as a means of
limitation on national power.

FaiEE WA T 22 TEE i R difm w #
YR & ®Y § TS R H TR

UNIT-1V (3e&3-1V)

Define Collective security. Explain its main characteristics.
Tfer Qe w oufeaw 3 o g favmaed w0
el a

16603/200/KD/451 2

8.

What do you understand by Environment ? Discuss the
general causes of the Environmental pollution.

TR ¥ o T OGEEd ¥ WEw WM % g
FROT FaATq)
UNIT-V (5&TE-V )
Compulsory Question ( 37ard W)

Objective type question.
TS T
(a) Who wrote “Politics Among Nations” ?
(i) Morgenthau
(i) Quincy Wright
(iii) Woodrow Wilson
(iv) Kamplan.
sl ® we TR RRget w20
() wRreS
(i) faft e
(i) FU o
(iv) HRHEEAR|
(b) In International Relations which ideology is studied ?
(i) Marxism
(i) Capitalism
(iii) Fascism
(iv) All the above.

16603/200/KD/451 3 [P.T.O.
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¢

FAUEg Tl § R faemum & s e
v #?

() wEEER

(i) s

(i) TEER

(iv) ST g

Morgenthau's Political realistic approach emphasises on
(i) Fulfilment of national interest

(ii) Increasing the influence

(iii) Protect international interest

(iv) All the above.

HEFers # TR gndER fewm #:Ogend
T

@ T fedl = wfE

(i) w9a w1 fawnr

(i) sTRiT fei w1

(iv) ST |

Which one is not the source of power ?
(1) Knowledge

(i) Organisation

(iii) Poverty

(iv) Size.

16603/200/KD/451 4

(e)

®

frafafes § @ $R-W iR w1 99 Wl 22
@ I

(i) g

(iii) T

(iv) SRR

Present day the reason for rise of world public opinion
is

(i) Psychological unity

(i) Technology

(iii) Globalisation

(iv) All the above.

waE g § fava deEd ® 979 F F HE R?
() TAEEE T

(i) TS

(i) v

(iv) I w+f

Who mam “Balance of Power is the basic principle of
International relations” ?

(i) Churchil

(i) Palmer and Parkinson

(iii) Salichir

(iv) Polard.

16603/200/KD/451 5 [P.T.O.
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(v) TS
(g) Which chapter of UN charter is related with Collective
security ?
(i) Chapter 5
(ii) Chapter 9
(i) Chapter 7
(iv) Chapter 3.
A A Saom seE s G
e § T T2

@ @ S

(iv) FA 3.
(h) Policy adopted by India under Globalisation Was known
as
) Socialism
(i) Liberalism
(jii) New Socialism
(iv) New Economic Policy.

Emou\woo\wb\hma 6
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